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Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the
invigilator gives signal to open it at the commencement of the examination. As
soon as the signal is received you should tear the right side of the booklet cover
carefully to open the booklet. Then proceed to answer the questions.

2. This Question Booklet contains 200 questions.
3. Answer all questions. All questions carry equal marks.
4. The Test Booklet is printed in four series e.g.  or 

 (see Top left side of this page). 

The Candidate has to indicate in the space provided in the Answer Sheet the series 
of the booklet. For example, if the candidate gets         series booklet, he/she has

 to indicate in the side 2 of the Answer Sheet with Blue or Black Ink Ball point   
 pen as follows. 

5. You must write your Register in the space provided on the top right side of this
page. Do not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the
answers. You must write your Name, Register No. and other particulars on side 1
of the Answer Sheet provided, failing which your Answer Sheet will not be
evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet.
If you do not encode properly or fail to encode the above information, your
Answer Sheet will not be evaluated.

8. Each question comprises four responses (A), (B), (C) and (D). You are to select
ONLY ONE correct response and mark in your Answer Sheet. In case you feel
that there are more than one correct response, mark the response which you
consider the best. In any case, choose ONLY ONE response for each question.
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Your total marks will depend on the number of correct responses marked by you 
in the Answer Sheet. 

9. In the Answer Sheet there are four brackets [ A ] [ B ] [ C ] and [ D ] against each
question. To answer the questions you are to mark with Ball point pen ONLY
ONE bracket of your choice for each question. Select one response for each
question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g.
If for any item, (B) is the correct answer, you have to mark as follows:

[ A ]  [ C ]  [ D ] 

10. You should not remove or tear off any sheet from this Question Booklet. You are
not allowed to take this Question Booklet and the Answer Sheet out of the
Examination Hall during the examination. After the examination is concluded,
you must hand over your Answer Sheet to the Invigilator. You are allowed to take
the Question Booklet with you only after the Examination is over.

11. The sheet before the last page of the Question Booklet can be used for Rough
Work.

12. Failure to comply with any of the above instructions will render you liable to such
action or penalty as the Commission may decide at their discretion.

13. In all matters and in cases of doubt, the English Version is final.
14. Do not tick-mark the answer in the Question Booklet.
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TNPSC – Group-I Preliminary Exams – 2009 
bghJ m¿ÎbghJ m¿ÎbghJ m¿ÎbghJ m¿Î    

édh¤jhŸ tçirédh¤jhŸ tçirédh¤jhŸ tçirédh¤jhŸ tçir gÂÎgÂÎgÂÎgÂÎ    
 v© v© v© v© 

[mDkÂ¡f¥g£LŸs neu«mDkÂ¡f¥g£LŸs neu«mDkÂ¡f¥g£LŸs neu«mDkÂ¡f¥g£LŸs neu« : 3  : 3  : 3  : 3 kâ kâ kâ kâ ]        [bkh¤j kÂ¥bg©fŸ :  300bkh¤j kÂ¥bg©fŸ :  300bkh¤j kÂ¥bg©fŸ :  300bkh¤j kÂ¥bg©fŸ :  300]        

 édh¡fS¡F gÂyë¡FK‹ Ñœ¡f©l m¿Îiufis ftdkhf¥ go¡fÎ« édh¡fS¡F gÂyë¡FK‹ Ñœ¡f©l m¿Îiufis ftdkhf¥ go¡fÎ« édh¡fS¡F gÂyë¡FK‹ Ñœ¡f©l m¿Îiufis ftdkhf¥ go¡fÎ« édh¡fS¡F gÂyë¡FK‹ Ñœ¡f©l m¿Îiufis ftdkhf¥ go¡fÎ«....    

K¡»a m¿ÎiufŸK¡»a m¿ÎiufŸK¡»a m¿ÎiufŸK¡»a m¿ÎiufŸ    

1. Ïªj édh¤ bjhF¥ò xU nkYiwia (Ïªj g¡f¤ij)¡ bfh©LŸsJ.
nj®Î bjhl§F« neu¤Âš édh¤bjhF¥ig¤ Âw¡F«go f©fhâ¥ghs®
TW« tiuæš nkYiwia¤ Âw¡f¡ TlhJ. édh¤bjhF¥ig¤
Âw¡F«goahd brŒif f©fhâ¥ghsçläUªJ bg‰wÎl‹ nkYiwæ‹
tyJÍw¤ij ftdkhf »ê¤J¤ Âw¡f nt©L«. mj‹Ã‹ nfŸéfS¡F
éilaë¡f¤ bjhl§fyh«.

2. Ïªj édh¤ bjhF¥ò 200 édh¡fis¡ bfh©LŸsJ.
3. všyh édh¡fS¡F« éilaë¡fÎ«, všyh édh¡fS« rkkhd

kÂ¥bg©fŸ bfh©lit.
4. édh¤ bjhF¥ò             mšyJ        vd eh‹F 

 tçirfëš m¢Ál¥g£LŸsJ. (Ïªj¥ g¡f¤Â‹ ÏlJ nkš _iyæš 
cŸs f£l¤ij¥ gh®¡fÎ«) é©z¥gjhu® édh¤jhŸ tçiria 
éil¤jhëš mj‰bfd mikªJŸs Ïl¤Âš F¿¤J¡ fh©Ã¡f 
nt©L«. cjhuzkhf xU é©z¥gjhu®              v‹D« édh¤ bjhF¥ò 
bg‰¿Uªjhš mt® mij j‹Dila éil¤jhë‹ Ïu©lh« g¡f¤Âš 
ÑnH fh©Ã¤JŸsthW Úy« mšyJ fUik ãwikÍila gªJKid¥ 
ngdhédhš F¿¤J¡ fh£l nt©L«. 

5. c§fSila gÂÎ v©iz Ïªj¥ g¡f¤Â‹ tyJ _iyæš mj‰bfd
mikªJŸs Ïl¤Âš Ú§fŸ vGj nt©L«. ntW vijÍ« édh¤
bjhF¥Ãš vGj¡ TlhJ.

6. éilfis¡ F¿¤J¡ fh£l vd, éil¤jhŸ x‹W c§fS¡F
f©fhâ¥ghsuhš jåahf¤ ju¥gL«. éil¤jhë‹ Kjš g¡f¤Âš
c§fSila gÂÎ v©, bga® k‰W« nf£LŸs égu§fis Ú§fŸ vGj
nt©L«:- jt¿dhš c§fsJ éil¤jhŸ bršyhjjhF«.

C 

A B C D

 A 
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7. c§fSila gÂÎ v©, nj®Î¤jhŸ v© Kjèat‰iwÍ«, éil¤jhë‹
Ïu©lh« g¡f¤Âš mitfS¡fhf mikªJŸs Ïl§fëš Úy« mšyJ
fUik ãwikÍila gªJKid¥ ngdhédhš F¿¤J¡ fh£l nt©L«.
nk‰f©l égu§fis éil¤jhëš Ú§fŸ F¿¤J¡ fh£l¤ jt¿dhš
c§fŸ éil¤jhŸ bršyhjjh¡f¥gL«.

8. x›bthU édhÎ« [ A ] [ B ] [ C ] k‰W« [ D ] vd eh‹F éilfis¡
bfh©LŸsJ. Ú§fŸ mitfëš xnu xU rçahd éilia¤ nj®Î brŒJ
éil¤jhëš F¿¤J¡ fh£l nt©L«. x‹W¡F nk‰g£l rçahd
éilfŸ xU nfŸé¡F ÏU¥gjhf¡ fUÂdhš Ú§fŸ äf¢ rçahdJ v‹W
vij¡ fUJ»Ö®fnsh mªj éilia éil¤jhëš F¿¤J¡ fh£l
nt©L«. v¥goahæD« xU nfŸé¡F xnu xU éilia¤jh‹
nj®ªbjL¡f nt©L«. c§fSila bkh¤j kÂ¥bg©fŸ Ú§fŸ
éil¤jhëš F¿¤J¡ fh£L« rçahd éilfë‹ v©â¡ifia¥
bghW¤jJ.

9. éil¤jhëš x›bthU nfŸé v©â‰F« vÂçš [ A ] [ B ] [ C ] k‰W«
[ D ] vd eh‹F éil¡f£l§fŸ cŸsd. xU nfŸé¡F éilaë¡f
Ú§fŸ rçbad¡ fUJ« éilia xnu xU éil¡f£l¤Âš k£L« gªJ
Kid¥ ngdhédhš F¿¤J¡ fh£l nt©L«. x›bthU nfŸé¡F« xU
éilia¤ nj®ªbjL¤J éil¤jhëš F¿¡f nt©L«. xU nfŸé¡F
x‹W¡F nk‰g£l éilaë¤jhš mªj éil jtwhdjhf fUj¥gL«.
cjhuzkhf Ú§fŸ [ B ] v‹gij rçahd éilahf¡ fUÂdhš mij
Ã‹tUkhW F¿¤J¡ fh£l nt©L«.

[ A ]  [ C ]  [ D ] 

10. Ú§fŸ édh¤ bjhF¥Ã‹ vªj¥ g¡f¤ijÍ« Ú¡fnth mšyJ »ê¡fnth
TlhJ. nj®Î neu¤Âš Ïªj édh¤ bjhF¥idnah mšyJ
éil¤jhisnah nj®Î¡ Tl¤ij é£L btëæš vL¤J¢ bršy¡ TlhJ.
nj®Î KoªjÃ‹ Ú§fŸ c§fSila éil¤jhis¡ f©fhâ¥ghsçl«
bfhL¤J él nt©L«. Ï›édh¤ bjhF¥Ãid¤ nj®Î KoªjÎl‹
Ú§fŸ c§fSl‹ vL¤J¢ bršyyh«.

11. F¿¥òfŸ vGÂ¥ gh®¥gj‰F édh¤ bjhF¥Ã‹ filÁ g¡f¤Â‰F
K‹g¡f¤ij cgnah»¤J¡ bfhŸsyh«.

12. nk‰f©l éÂfëš vijahtJ  Û¿dhš nj®thiza« KobtL¡F«
elto¡iffS¡F cŸshf neçL« vd m¿ÎW¤j¥gL»wJ.

13. M§»y toéš bfhL¡f¥g£LŸs F¿¥òfŸ jh‹ KothdjhF«.
14. édh¤ bjhF¥Ãš éilia F¿ælnth, F¿¥Ã£L¡ fh£lnth TlhJ.
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1. Úçš fiuªj fh®g‹ il M¡i[L
A ) mç¥ig mÂf¥gL¤J»wJ B) mç¥ig Fiw¡»wJ
C) mç¥ig jL¡»wJ D) mç¥ig vJÎ« brŒtÂšiy

The Carbon dioxide dissolved in 
water 
A) enhances corrosion B) suppresses corrosion

C) prevents corrosion D) has no influence on corrosion

2. ieyh‹ xU
A ) ghèba°l® B) ghèvÂè‹
C) ghèmikL D) ghèrh¡fiuL

Nylon is a 

A) polyster B) polyethylene

C) polyamide D) polysaccharide

3. xU fhu£ itu« v‹gJ
A ) 100 ä.» B) 200 ä.»
C) 300 ä.» D) 400 ä.»

One carat of diamond is 

A) 100 mg B) 200 mg

C) 300 mg D) 400 mg

4. Ïu¤j« k‰W« ÁWÚçš r®¡fiuia nrhÂ¡f ga‹gLtJ
A) bgåo£ fiurš B) Ãiu‹ fiurš
C) iA¥ngh fiurš D) mbaho‹ fiurš

Sugar in blood and urine is tested with 

A) Benedict’s solution Brine solution 

C) Hypo solution D) Iodine solution

5. o.é. M©ldh brŒa¥ga‹gLtJ
A ) mYäåa« B) jhäu«
C) o‹ D) J¤jehf«

TV antenna elements are made up of 

A) aluminum B) copper

C) tin D) zinc

6. cy®ªj gå¡f£o v‹gJ
A) Âut ie£u#‹ B) R¤j« brŒa¥g£l gå¡f£o
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C) Â‹k fh®g‹ il M¡i[L D) mÂf Fë® gå¡f£o

Dry ice is 
A) liquid nitrogen B) purified ice
C) solid carbon dioxide D) supercooled ice

7. vçbghUë‹ fnyhç kÂ¥ò tçir
A) ãy¡fç > Õ£ > gG¥ò ãy¡fç
> cy®ªj ku«

B) Õ£ > gG¥ò ãy¡fç > ãy¡fç >

cy®ªj ku«
C) gG¥ò ãy¡fç > Õ£ > ãy¡fç
> cy®ªj ku«

D) ãy¡fç > gG¥ò ãy¡fç > Õ£ >

cy®ªj ku«

The calorific value of the fuel is of the order 
A) coal > peat > lignite > dried
wood

B) peat > lignite > coal > dried wood

C) lignite > peat > coal > dried
wood

D) coal > lignite > peat > dried wood

8. Ñœ¡f©lt‰WŸ rçahf bghU¤j¥g£LŸsJ vJ- 
 A) rikaš nrhlh – nrhoa« ig 

fh®gnd£ 
B) fh°o¡ (vç) nrhlh – fhšÁa«
fh®gnd£ 

C) nrhlhiy« - nrhoa«
fh®gnd£

D) ryit nrhlh – fhšÁa«
iA£uh¡i[L

Which one of the following is correctly matched? 
A) Baking Soda  -- Sodium 
bicarbonate 

B) Caustic soda  --  Calcium carbonate

C) Sodalime  --  Sodium carbonate D) Washing soda  --  Calcium hydroxide

9. Ã‹tUtdt‰WŸ rçahf¥ bghU¤j¥g£l x‹W vJ?
A) m°fh®Ã¡ mäy« - 
it£lä‹

B) Ï‹Rè‹ - bjh‰WÚ¡»

C) bg‹Áè‹ - M‹oigu£o¡ D) òuj§fŸ – ghèrh¡fiuLfŸ

Which one of the following is correctly matched? 
A) Ascorbic acid  -- Vitamin B) Insulin  --  Antiseptic
C) Penicillin  --  Antipyretic D) Proteins  -- Polysaccharide

10. Ñœ¡f©l th¡»a§fis¡ ftå:
cWÂ (A): flš Úçš M‰W Úiu él Jçjkhf ÏU«ò JU¥Ão¡F«
fhuz« (R): c¥ò Ú® ä‹ fl¤jY¡F cjÎ»wJ.
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL:
A) (A) k‰W« (R) rçahdit (A)

¡F rçahd és¡f« (R)

B) (A) k‰W« (R) rçahdit (A) ¡F (R)

rçahd és¡fkšy
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C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): Rusting of iron is quicker in sea water than in river water 
Reason (R): Salinity helps in carrying current. 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

11. ghš btëna‰w¥gLtj‰F vªj Ah®nkh‹ fhuz«?
A) M¡ìnlhÁ‹ B) ònuhyh¡o‹
C) ijuh¡ì‹ D) bl°nlh°Onuh‹

Which hormone is responsible for ejection of milk? 
A) Oxytocin B) Prolactin
C) Thyroxine D) Testosterone

12. fh©lhäUf« Ñœ¡f©l ruzhya¤Âš x‹¿š k£L« fhz¥gL»wJ
A) bgçah® B) »® fhLfŸ
C) fhÁu§fh D) í«fh®bg£

Rhinoceros is unique to which of the following sanctuaries? 
A) Periyar B) Gir forest
C) Kaziranga D) Jim Corbett

13. kåj®fëš Fnuhnkhnrh«fë‹ v©â¡if 45 Mf¡ fhz¥gL« nghJ
(22AA + XO ) Ïªj nehŒ (Á‹£nuh«) V‰gL»‹wJ
A) l®d° Á‹£nuh« B) bls‹° Á‹£nuh«
C) »is‹ bgšl®° Á‹£nuh« D) v£t®£° Á‹£nuh«

In human 45 numbers of chromosomes (22AA + XO) is resulted in 
A) Turner’s syndrome B) Down syndrome
C) Klinefelter’s syndrome D) Edward’s syndrome

14. Ñœ¡f©lt‰WŸ vªj nehŒ murgu«giu nehŒ vd miH¡f¥gL»‹wJ
A) Ïu¤j nrhif B) èô¡Ñäah
C) ËnkhÃèah D) ãw¡FUL

Which of the following is called as royal disease? 
A) Anemia B) Leukemia
C) Haemophilia D) Colour blindness

15. Ñœ¡f©lt‰WŸ vªj x‹W nehŒ jL¥ò¤ j‹ik thŒªjÂšiy?
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A) nghènah nehŒ jL¥ò th¡Á‹ B) ÃÁí
C) M‹ouhÃ° D) ònuhb#°onuh‹

Which one of the following is not a Vaccine? 
A) Polio Vaccine B) BCG
C) Anti-rabies D) Progesterone

16. ÂO® kh‰w« ahuhš f©l¿a¥g£lJ?
A) kh®f‹ B) A¡°è
C) bk©lš D) Ënfh nj éç°

Mutation was discovered by 
A) Morgan B) Huxley
C) Mendel D) Hugo de Vries

17. Ïu¤j« Át¥ghf¤ njh‹Wtj‰F fhuz«
A) mšòä‹ B) ËnkhFnshÃ‹
C) it£lä‹ B6 D) çyh¡ì‹

The red colour of the blood is due to 
A) albumin B) haemoglobin
C) vitamin B6 D) relaxin

18. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis¡
bfh©L rçahd éilia¤ nj®ªbjL.

 g£oaš I 
a) ts®¢Á Ah®nkh‹
b) ijuh¡ì‹
c) Ï‹Rè‹
d) bl°nlh°Onuh‹

F¿pLfŸ: 
 a  b  c  d 

A) 3  4  1  2 

B) 4  3  2  1 

C) 1  2  3  4 

D) 2  1  4  3 

 g£oaš II 
1) gh‹»çah°
2) bl°o°
3) Ã£oôlç
4) ijuhŒL

Match List-I with List II correctly and select your answer using the codes given 
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below: 
 List-I 

a) Growth hormone
b) Thyroxine
c) Insulin
d) Testosterone

Codes: 
 a  b  c  d 

A) 3  4  1  2 

B) 4  3  2  1 

C) 1  2  3  4 

D) 2  1  4  3 

 List-II 
1. Pancreas
2. Testis
3. Pituitary
4. Thyroid

19. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis¡
bfh©L rçahd éilia¤ nj®ªbjL.

 g£oaš I 
a) jkå
b) Áiu
c) Eiupuš jkå
d) Eiupuš Áiu

F¿pLfŸ: 
 b  c  d 

A) 2  3  4  1 

B) 3  4  1  2 

C) 4  1  2  3 

D) 1  2  3  4 

 g£oaš II 
1) R¤Âfç¡f¥g£l Ïu¤j«
2) ÃuhzthÍ brçñ£l¥g£l Ïu¤j«
3) ÃuhzthÍ Ïšyhj Ïu¤j«
4) mR¤j Ïu¤j«

Match List-I with List II correctly and select your answer using the codes given 
below: 

 List-I 
a) Artery
b) Vein
c) Pulmonary artery

List-II 
1. Pure blood
2. Oxygenated blood
3. Deoxygenated blood
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d) Pulmonary vein
Codes: 

 a  b  c  d 

A) 2  3  4  1 

B) 3  4  1  2 

C) 4  1  2  3 

D) 1  2  3  4 

4. Impure blood

20. Ñœ¡f©l th¡»a§fis¡ ftå:
cWÂ (A): knyçahÎ¡F¡ fhuzkhd x£L©â kåj Ïu¤j¤ij
czthf¡ bfhŸ»wJ
fhuz« (R): x£L©âfshf ÏU¥git j‹ Éuz k©ly¤ij
ÏHªJéLtjhš mit Mjhu éy§if j‹ czÎ¡F rh®ªJŸsJ.

ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) k‰W« (R) Ïu©L« rç,
nkY« (R) v‹gJ (A)é‰F rçahd
és¡f«

B) (A) k‰W« (R) Ïu©L« jtwhdit

C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): Malarial parasite feeds on the blood of man. 
Reason (R): One of the parasite adaptations is loss of digestive system and hence 
depends on host for food. 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

B) Both (A) and (R) are false

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

21. Ñœ¡f©lt‰WŸ vJ Ïu©lhtJ bjhêyhs® Miza¤Â‹ gçªJiu
(2002) Ïšiy?
A) bjhêyhs® r£l¤ij 
tif¥gL¤Jjš

B) Kiw rhuhj ãWtd§fëš FHªij
bjhêyhs®fis ãaä¤jš

C) njÁa mséš Fiwªj g£r
CÂa¤ij F¿¥ÃLjš

D) Ït‰WŸ VJäšiy

Which one of the following is not one of the recommendations of the Second 
Labour Commission (2002)? 
A) A broad grouping of labour
legislation

B) Permitting child labour in the
unorganised sector
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C) Notifying a national floor level of
minimum wage

D) None of these

22. ÏªÂahé‹ btëeh£L¡ flå‹ kÂ¥ò (2001-š cŸs étu¥go)
A) $ 98.4 Ãšèa‹ B) $ 151.8 Ãšèa‹
C) $ 61 Ãšèa‹ D) $ 98.87 Ãšèa‹

To-day India’s external debt is (2001 figures) 
A) $ 98.4  billion B) $ 151.8 billion
C) $ 61  billion D) $ 98.87  billion

23. tWikia msél Â£l¡FG vªj msit ga‹gL¤J»wJ?
A) 2400 ».fnyhçfŸ B) 1800 ».fnyhçfŸ
C) 2500 ».fnyhçfŸ D) 2600 ».fnyhçfŸ

On which of the following bases has the Planning Commission defined poverty in 
India? 
A) 2400 k.cals B) 1800 k.cals
C) 2500 k.cals D) 2600 k.cals

24. ÏªÂahé‹ k¡fŸbjhif v›tsÎ? (2001-« k¡fŸ bjhif fz¡F¥go)
A) 102.7 nfho B) 104.3 nfho
C) 101.2 nfho D) 108.1 nfho

What was the population of India as per the 2001 Census? 
A) 102.7 crores B) 104.3 crores
C) 101.2 crores D) 108.1 crores

25. cyf¤Â‹ R‰W¥W¢NHš ehŸ ........... m‹W x›bthU tUlK« 
bfh©lhl¥gL»wJ. 
A) 18, nk B) 5, É‹
C) 24, m¡nlhg® D) 25, or«g®

World Environmental Day is celebrated on ............. every year 
A) 18th May B) 5th June
C) 24th October D) 25th December

26. nyh¡ rigæš cŸs bkh¤j cW¥Ãd®fë‹ v©â¡if
A) 500 B) 520
C) 620 D) 543

The total number of Lok Sabha seats is 
A) 500 B) 520
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C) 620 D) 543

27. ÏªÂa njÁa fh§»uì‹ vªj T£l¤Âš tªnj khju« v‹w ghlš Kj‹
Kjyhf ghl¥g£lJ?
A) 1892 B) 1896
C) 1904 D) 1886

Vande Mataram was first sung at the session of the Indian National Congress in 
A) 1892 B) 1896
C) 1904 D) 1886

28. Ã‹tUtdt‰¿š vJ cŸeh£L M‰W¤ JiwKf«?
A) bfhšf¤jh B) K«ig
C) br‹id D) ö¤J¡Fo

Which of the following is an inland river port? 
A) Kolkata B) Mumbai
C) Chennai D) Tuticorin

29 Ã‹tUtdt‰iw Ïw§F tçiræš tçir¥gL¤J: 
A) ntªj®, »Hh®, ntë® B) ntªj®, ntë®, »Hh®
C) ntë®, ntªj®, »Hh® D) »Hh®, ntë®, ntªj®

The correct descending order of the three categories of the chiefs was 
A) Vendar, Kilar, Velir B) Vendar, Velir, Kilar
C) Velir, Vendar, Kilar D) Kilar, Velir, Vendar

30. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑœtU« jäœ Ïy¡»a§fS¡Fça
MÁça®fis bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis bfh©L
rçahd éilia¤ bj®ªbjL.

 g£oaš I  (üšfŸ) 
a) Áy¥gÂfhu«
b) kânkfiy
c) ÂU¡FwŸ
d) m¡fëa«

F¿pLfŸ: 
 a  b  c  d 

A) 2  4  1  3 

B) 4  2  3  1 

C) 2  3  1  4 

 g£oaš II  (MçÁa®fŸ) 
1) ÂUtŸSt®
2) Ïs§nfh mofŸ
3) mf¤Âa®
4) Ó¤jiy rh¤jdh®
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D) 1  2  3  4 

Match the Tamil books in List-I with their authors in List-II correctly and select 
your answer using the codes given below: 

 List-I (Books) 
a) Silappadikaram
b) Manimekalai
c) Tirukkural
d) Akkaliyam

Codes: 
a          b  c  d 

A) 2  4  1  3 

B) 4  2  3  1 

C) 2  3  1  4 

D) 1  2  3  4 

            List-II (Authors) 
1. Thiruvalluvar
2. Ilango Adigal
3. Agastiyar
4. Sittalai Sattanar

31. ÑœfhQ« vªj t®¤jf¥ bghUŸ g©ila jäHf¤ÂèUªJ k‰w
Ïl§fS¡F V‰WkÂ brŒa¥g£lJ?
A) Û‹ B) K¤J
C) gU¥ò tiffŸ D) ehŒfŸ

Which of the following materials was a famous commercial product in ancient 
Tamil Nadu exported to other places? 
A) Fish B) Pearl
C) Pulses D) Dogs

32. x¤JiHahik Ïa¡f« bfh©L tªjnghJ jäHf fh§»u° f£Áæ‹
jiyt®
A) uh#hí B) Ãufhr«
C) nf.é. bu£o D) bgçah® <.nt.uh.

Name the President of Tamil Nadu Congress at the time of Non-cooperation 
movement was 
A) Rajaji B) Prakasam
C) K.V. Reddy D) Periyar E.V.R

33. filÁ bghJ¤ nj®jèš (2004) Â.K.f. bt‰¿ bg‰w Ïl§fŸ
A) 12 Ïl§fŸ B) 16 Ïl§fŸ
C) 14 Ïl§fŸ D) 10 Ïl§fŸ
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In the last General Elections of 2004 the DMK won 
A) 12 seats B) 16 seats
C) 14 seats D) 10 seats

34. jäHf¤Â‹ Úskhd MW
A) fhntç B) bg©izahW
C) jhäuguâ D) itif

The longest river of Tamil Nadu is 
A) Kaveri B) Pennayar
C) Tamirabarani D) Vaigai

35 rÛg¤Âš ts®¢Á bg‰w (Hyundai) Ë©lhŒ fh® bjhê‰rhiy mikªj 
kht£l«. 
A) fhŠÁòu« B) ÂUtŸq®
C) flÿ® D) f%®

Recently developed Hyundai Car Industry is located in the district of 
A) Kancheepuram B) Tiruvallur
C) Cuddalore D) Karur

36. “j¤JtPhåfŸ M£Áahs®fshf nt©L«” T¿at® ah®?
A) #tA®yhš neU B) Ãsh£nlh
C) mç°lh£oš D) ÏªÂuh fhªÂ

“The Philosophers must be the Kings”, Who said this? 
A) Jawaharlal Nehru B) Plato
C) Aristotle D) Indira Gandhi

37. ‘ÏªÂahé‹ btëÍwÎ¡ bfhŸif’ v‹D« üè‹ MÁça® ah®?
A) I.nf. F{uhš B) Ã.í. njZK¡
C) vš.nf. m¤thå D) V.n#. lhæ‹Ã

Who is the author of the book “A Foreign Policy of India”? 
A) I.K. Gujral B) B.G. Deshmukh
C) L.K. Advani D) A.J. Toynbee

38. 1924-š it¡f« r¤Âah»uf« vj‰fhf eilbg‰wJ- 
 A) jhœ¤j¥g£l ÏªJ¡fS¡F 

Mya§fis ÂwªJéLtj‰F 
B) Ãuò¡fë‹ Ru©lY¡F vÂuhd
ngh® 

C) g¤Âç¡if f£L¥gh£il Ú¡f D) ÂUéjh§T® khãy¤Âš 
ã®thf¤ij #dehaf¥gL¤j 
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The Vaikkom Satyagraha was launched in 1924 for 
A) opening the temples to the low
caste Hindus

B) fighting against the exploitation by the
landlords

C) removal of press restrictions D) democratisation of the administration of
Travancore State

39. k¡ nkhf‹ všiy¡nfhL ÑnH bfhL¡f¥g£LŸs vªj ehLfS¡»ilna
cŸsJ?
A) ÏªÂah k‰W« gh»°jh‹ B) ÏªÂah k‰W« g§fshnjZ
C) ÏªÂah k‰W« Ódh D) ÏªÂah k‰W« äah‹k®

McMohan line lies between which of the following countries 
A) India and Pakistan B) India and Bangladesh
C) India and China D) India and Myanmar

40. Ã‹tUtdt‰¿š ÏªJ°jhå Ïiræš mÂf jh¡f¤ij V‰gL¤ÂaJ?
A) mnuÃa-ghuÓf Ïir B) ghuÓf Ïir
C) k¤Âa MÁa tH¡f« D) Ïit mid¤J«

Which of the following largely influenced the Hindustani music? 
A) Arab-Persian music B) Persian music
C) Central Asian tradition D) All of these

41 ÏªÂahéš Ïa‰ifahd Ïu¥g® vªj khãy¤Âš mÂf« c‰g¤Â 
brŒa¥gL»wJ? 
A) jäœehL B) f®ehlf«
C) MªÂu Ãunjr« D) nfush

Which State produces the bulk of natural rubber in India? 
A) Tamil Nadu B) Karnataka
C) Andhra Pradesh D) Kerala

42. ÏªÂahé‹ bkh¤j gu¥gsÎ?
A) 31 y£r« r. ».Û. B) 37 y£r« r. ».Û.
C) 32 y£r« r. ».Û. D) 35 y£r« r. ».Û.

The total area of India is about 
A) 31 lakh sq.km. B) 37 lakh sq.km
C) 32 lakh sq.km. D) 35 lakh sq.km

43. Ñœ¡f©l th¡»a§fis¡ ftå:
cWÂ (A): ók¤Âa nuif Ãunjr¤Âš ml®ªj fhLfëš gy éjkhd ku§fŸ
k‰w brofŸ c©L.
fhuz« (R): ók¤Âa nuif Ãunjr¤Âš rk¢Óuhd bt¥gK« kiHÍ« M©L
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KGtJ« fhz¥gL«. 

ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) k‰W« (R) Ïu©L« rç,
nkY« (R) v‹gJ (A)é‰F rçahd
és¡f«

B) (A) k‰W« (R) Ïu©L« rç, nkY« (R)

v‹gJ (A) é‰F rçahd és¡fkšy

C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): The equatorial region has dense evergreen forests having a variety 
of trees and other plants 
Reason (R): The equatorial region has uniformly hot wet conditions throughout the 
year 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

44. Ã‹tUtdt‰¿š nfhŸfh‰W vit?
A) nkš fh‰W B) flš fh‰W
C) gh‹ fh‰W D) ä°ou°

Which of the following is a planetary wind? 
A) The westerlies B) Sea breeze
C) Fohn D) Mistral

45 cyf¤Â‹ k¡fŸ bjhifæš _‹whtJ mÂf br¿Î cŸs ehL? 
A) tl mbkç¡fh B) ÍnuZah
C) bj‹ mbkç¡fh D) M¥Ãç¡fh

Where does the third largest concentration of population lie? 
A) North America B) Eurasia
C) South America D) Africa

46. òÂjhf mik¡f¥g£LŸs njÁa òy‹ érhuiz (National Investigation

Agency) mik¥Ã‹ ilu¡l® b#duš)
A) xŒ.v°. £thš B) uhjh éndh¤ uhÉ
C) Ã.M®. uhÉ D) Ït‰WŸ VJäšiy

Director General of newly established National Investigation Agency (NIA) is 
A) Y.S. Dadwal B) Radha Vinod Raju
C) P.R. Raju D) None of them

47. fh‰whiyfS¡F bga® bg‰wJ?
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A) K¥gªjš B) ÂU¥ó®
C) eh‹Fneç D) Ït‰WŸ VJäšiy

Place known for windmills is 
A) Muppandal B) Tirupur
C) Nanguneri D) None of these

48. ÂU¥ó® vªj M‰¿‹ fiuæš mikªJŸsJ?
A) gthå B) behŒaš
C) bgçahW D) ghyhW

Tirupur is located on the banks of river 
A) Bhavani B) Noyyal
C) Periyar D) Palar

49. jäœeh£oš r®¡fiu Miy fhz¥gL« Ïl«
A) yhšFo B) ÂUbešntè
C) f%® D) flÿ®

In Tamil Nadu sugar mill is located at 
A) Lalgudi B) Tirunelveli
C) Karur D) Cuddalore

50. 2001-M« M©L k¡fŸ bjhif fz¡bfL¡»‹ go, jäœeh£oš
jhœ¤j¥g£l k¡fë‹ k¡fŸ bjhif v¤jid éG¡fhL?
A) 20 % B) 19 %
C) 26 % D) 10 %

As per census report 2001, percentage of scheduled caste people of population in 
Tamil Nadu is 
A) 20% B) 19%
C) 26% D) 10%

51. rK¤Âu F¥j®, nkft®k‹ v‹w X® mašeh£L muriu fahéš xU Jwé
kl« f£l mDkÂ¤jh®, nkft®k‹ vªeh£L mur‹?
A) neghs« B) Ïy§if
C) ólh‹ D) gh»°jh‹

Samudragupta permitted a foreign king Meghavarman to build a monastery at 
Gaya. Meghavarman belogns to 
A) Nepal B) Sri Lanka
C) Bhutan D) Pakistan

52. Ñœ¡f©l T‰Wfis MŒf:
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1) gšyt®fë‹ fšbt£Lfëš äFÂahdit rk°»Uj¤Âš
cŸsd.

2) Kjyh« knfªÂut®k‹ k¤jéyhr Ãufrd« v‹w eif¢Rit
brŒÍis bjhF¤jh®.

3) gšyt®fŸ fhy¤Âš Íth‹Rth§ v‹w Ód¥gaâ fhŠÁ¡F
tUif òçªjh®.

4) Â§ehf v‹gt® msitæaš ãòz® k‰W« ãahaghîa¤Â‹
MÁça® Mt®.

Ït‰¿š: 
A) 1 k£L« rçahdJ B) 1 k‰W« 2 rçahdit
C) 1, 2 k‰W« 3 rçahdit D) mid¤J« rçahdit

Consider the following statements: 
I. Most of the inscriptions of the Pallavas were in Sanskrit.
II. Mahendravarman-I composed a burlesque called Mattavilasa Prahasana
III. The Chinese traveller Hiuen Tsang visited Kanchi during the period of

Pallavas
IV. Dingnaga was the logician and the author of Nyaya Bhasya

Of the Statements” 
A) I alone is correct B) I and II are correct
C) I, II and III are correct D) all are correct

53 Ñœ¡fhQ« M£Áahs®fëš vªj xU M£Áahs®fŸ ehL KGtj‰F« xnu 
khÂçahd ã®thf¤ij bg‰¿Uªjd®? 
A) F¥j M£Áahs®fŸ B) Kfyha M£Áahs®fŸ
C) M§»nya M£Áahs®fŸ D) nk‰F¿¥Ã£l mid¤J 

M£Áahs®fS«

Which one of the following rulers had a uniform administration all over the 
country? 
A) Gupta rulers B) Mughal rulers
C) British rulers D) Allof these rulers

54 g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis 
bfh©L rçahd éilia¤ bj®ªbjL. 

 g£oaš I   
a) yè¤ fyh mfhlä
b) r§Ñ¤ ehlf mfhlä

c) rh»¤a mfhlä

d) uhZ£ça khd› r§uh
Ahšah

       g£oaš II 
1) Ïy¡»a¤Â‰fhd njÁa fiy¡Tl«
2) kåj cæçaš k‰W« g©gh£L
gçzhk ts®¢Áia btë¡fh£L«
njÁa ãWtd«.
3) E©fiyfS¡fhd njÁa 
fiy¡Tl«
4) Ïir, eld« k‰W« eh£oa¤Â‰fhd
njÁa fiy¡Tl«
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F¿pLfŸ: 
 a  b  c  d 

A) 3  4  2  1 

B) 4  3  2  1 

C) 1  3  4  2 

D) 3  4  1  2 

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Lalit Kala Academy
b) Sangeet Natak Academy

c) Sahitya Academy
d) Rashtriya Manava 

Sangrahalaya
Codes: 

 a  b  c  d 

A) 3  4  2  1 

B) 4  3  2  1 

C) 1  3  4  2 

D) 3  4  1  2 

 List-II 
1. National Academy of Letters
2. National institution to highlight

human biological and cultural
evolution

3. National Academy of fine Arts
4. National Academy of Music Dance

and Drama

55. nrhH®fshš f£l¥g£l nfhæšfë‹ Áw¥ghd m«r«
A) ékhd§fŸ B) g¡j®fS¡fhd k©lg§fŸ
C) bgçaséyhd ö©fŸ D) nfhòu§fŸ

The chief features of the temples constructed by the Cholas were their 
A) Vimanas B) Assembly halls for the devotees
C) Massive pillars D) Gopuras

56. jäêš mikªj Kjš Ïir ehlf«
A) mç¢rªÂuh ehlf« B) eªj‹ rç¤Âu«
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C) rFªjyh ehlf« D) rhé¤Âç ehlf«

The first verse drama (opera) in Tamil is 
A) Harichandra Natakam B) Nandan Charitram
C) Shakuntala Natakam D) Savitri Natakam

57. fhŠÁòu¤Âš cŸs ifyhrehj® Mya¤ij f£oat®
A) Ïu©lh« eªÂt®k‹ B) Kjyh« knfªÂut®k‹
C) Ïu©lh« euÁ«kt®k‹ D) j©o t®k‹

The Kailasanath temple at Kanchipuram was built by 
A) Nandivarman II B) Mahendravarman I
C) Narasimhavarman II D) Dandivarman

58. ÁªJ rkbtë k¡fŸ ÅLfŸ f£l vij cgnahf¥gL¤Âdh®fŸ?
A) fš B) ku«
C) br§fš D) Ïit mid¤J«

The Indus Valley people built their house using 
A) stone B) wood
C) bricks D) all of these

59. giHa f‰fhy k¡fë‹ K¡»a¤ bjhêš
A) ntsh©ik B) fhšeil ts®¥ò
C) Û‹ Ão¤jš D) nt£ilahLjš k‰W« czÎ

njLjš

The main occupation of the Paleolithic people was 
A) agriculture B) animal husbandry
C) fishing D) hunting and gathering food.

60. éjit fšé¡F fhuzkhd bgçat®fŸ
A) o.nf. fh®é k‰W« g©oj
ukhghŒ

B) v«.í. uhdnl k‰W« M®.í. gªjh®f®

C) <°t® rªÂu é¤ahrhf® k‰W«
nfrt rªÂu br‹

D) Ã.v«. kyghç k‰W« nf. $juY
ehÍL.

Two greatest pioneers in the course of widows education were 
A) D.K. Karve and Pandit Ramabal B) M.G. Ranade and R.G. Bhandarkar
C) Ishwarchadra Vidyasagar and
Keshav Chandra Sen

D) B.M. Malabari and K. Sridharalu Naidu

61 rhÂ mik¥Ãš fhz¥gL« ............ ia mid¤J r_f Ó®ÂU¤jthÂfŸ 
K¡»akhf vÂ®¤jh®fŸ 
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A) t®zhKiw B) rhÂ Kiw
C) MÁuk§fŸ Kiw D) Ô©lhik

The aspect of the caste system which was particularly condemned by all social 
reformers was 
A) Varna system B) Jati system
C) Ashram system D) Untouchability

62. ÏªÂa muÁayik¥ò r£l¤Âš cŸs 51 A ru¤Âš mo¥gil flikfŸ
nr®¤J¡ bfhŸs¥g£lJ?
A) 41 tJ muÁayik¥ò ÂU¤j« B) 42 tJ muÁayik¥ò ÂU¤j«
C) 43 tJ muÁayik¥ò ÂU¤j« D) 44 tJ muÁayik¥ò ÂU¤j«

The fundamental duties are incorporated in Article 51 A of the Constitution of 
India by the 
A) 41st Amendment Act B) 42nd Amendment Act
C) 43rd Amendment Act D) 44th Amendment Act

63 ÑnH bfhL¡f¥g£LŸsitfëš vªj x‹W ehfßfkhd rKjha¤Â‹ gFÂ 
mšy? 
A) muR rhuh mik¥òfŸ B) rhÂ rh®ªj mik¥òfŸ
C) r£lk‹w« D) FL«g«

Which one of the following is not considered as part of the civil society? 
A) Non-Governmental organisations B) Caste-based associations
C) Legislature D) Family

64. ÏªÂa c¢rÚÂk‹w« vªj r£l¤Â‹ Ñœ cUth¡f¥g£lJ?
A) xG§F Kiw r£l«, 1773 B) Ã£ ÏªÂa r£l«, 1784
C) rhrd r£l«, 1813 D) rhrd r£l«, 1833

The Supreme Court of India was set up by the 
A) Regulating Act, 1773 B) Pitts India Act, 1784
C) Charter Act, 1813 D) Charter Act, 1833

65. MSeç‹ mtru r£l¤ij khãy r£lrig ...................... ãiwnt‰w nt©L«. 
A) 6 thu¤Â‰FŸ B) 8 thu¤Â‰FŸ
C) 10 thu¤Â‰FŸ D) 12 thu¤Â‰FŸ

Ordinance of Governor has to be passed by the Assembly within 
A) 6 weeks B) 8 weeks
C) 10 weeks D) 12 weeks

66. ghuhSk‹w¤Âš Ïu©L T£l¤bjhlU¡fhd mDkÂ¡f¥g£l mÂfg£r
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fhy Ïilbtë v›tsÎ? 
A) xU khj« B) _‹W khj§fŸ
C) MW khj§fŸ D) xU tUl«

What is the maximum gap permissible between two sessions of the Parliament? 
A) One month B) Three months
C) Six months D) One year

67 Ã‹tU« khãy§fëš vJ jåahd muÁayik¥ig¡ bfh©LŸsJ? 
A) k¤Âa Ãunjr« B) c¤Âu Ãunjr«
C) nk‰F t§fhs« D) #«K k‰W« fhZÛ®

Which of the following states has a separate constitution? 
A) Madhya Pradesh B) Uttar Pradesh
C) West Bengal D) Jammu & Kashmir

68 Ñœ¡f©l T‰Wfis MuhŒf 
1. ÚÂk‹w kDé‹ _y« mo¥gil¡ flikfis ãiy eh£lKoÍ«
2. ÏªÂa muÁayik¥ò r£l« cUth¡»aÂèUªJ mo¥gil¡ flik

xU gFÂahf ÏUªJ tU»wJ.
3. Rtu‹ Á§ FGé‹ _y« mo¥gil¡ flikfŸ xU gFÂahf

muÁayik¥ò r£l¤Âš nr®¡f¥g£lJ.
4. mo¥gil¡ flikfŸ ÏªÂa FokfD¡F k£L« bghUªJ«.

Ït‰¿š 
A) 1, 2, k‰W« 3 B) 1, 2, k‰W« 4
C) 2, k‰W« 3 D) 3 k‰W« 4

Which of the following stastements regarding the fundamental duties contained in 
the Constitution of India are correct? 

I. Fundamental duties can be enforced through writ jurisdiction.
II. Fundamental duties have formed a part of the Constitution of India

since its adoption
III. Fundamental duties have become a part of the Constitution of India in

accordance with the recommendations of the Swaran Singh Committee
IV. Fundamental duties are applicable only to citizens of India.

Of the Statements: 
A) I, II and III are correct B) I, II and IV are correct
C) II and III are correct D) III and IV are correct

69 Ñœ¡f©l th¡»a§fis¡ ftå: 
cWÂ (A): 73tJ muÁayik¥ò ÂU¤j« »uhk rig¡F muÁayik¥ò 
mªj°J tH§»aJ. 
fhuz« (R): gštªnuh nk¤jh fä£o »uhk rig g‰¿ F¿¥Ã£LŸsJ. 
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ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) k‰W« (R) Ïu©L« rç,
nkY« (R) v‹gJ (A)é‰F rçahd
és¡f«

B) (A) k‰W« (R) Ïu©L« rç, nkY« (R)

v‹gJ (A) é‰F rçahd és¡fkšy

C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): The 73rd Amendment granted constitutional status to the Gram 
Sabha. 
Reason (R): The Balwantrai Mehta Committee mentioned the Gram Sabha 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

70 Â£l¡FG, 1950 M©L vj‹ _ykhf mik¡f¥g£lJ? 
A) xU muÁayik¥ò ÂU¤j«
_ykhf

B) c¢rÚÂk‹w¤Â‹ c¤ÂuÎ¥go

C) ã®thf Mizæ‹ _ykhf D) ghuhSk‹w¤Â‹ KoÎ _ykhf

Planning Commission was established in 1950 through 
A) a constitutional amendment B) a Supreme Court order
C) an executive order D) a decision by the Parliament

71 vªj M©L r£l nkyit jäHf¤Âš fiy¡f¥g£lJ? 
A) 1984 B) 1985
C) 1986 D) 1987

In which year was Legislative Council abolished in Tamil Nadu? 
A) 1984 B) 1985
C) 1986 D) 1987

72 KjyhtJ Iªjh©L Â£l¤Âš Kj‹ik më¡f¥g£l Jiw ahJ? 
A) ntiyia cUth¡Fjš B) ntsh©ik
C) V‰WkÂia T£Ljš D) bjhêšJiw

The major emphasis in the First-Year Plan was on 
A) employment generation B) agriculture
C) export promotion D) industry

73 ‘Íåbr¥’ vªj M©L ãWt¥g£lJ? 
A) 1946 B) 1956
C) 1949 D) 1954
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UNICEF was established in the year 
A) 1946 B) 1956
C) 1949 D) 1654

74 Ñœ bfhL¡f¥g£LŸst‰¿š vJ rç? 
A) kåj ts®¢Á F¿pL  --
I¡»a ehLfŸ

B) Ã.»ô.vš.I  --  1996

C) rKjha fhuâfŸ  --  ÏªÂah D) ts®¢Á msÎfŸ  --  nkhç°

Which one of the following is correct? 
A) Human Development Index –
United Nations

B) PQLI – 1996

C) Social indicators – India D) Welfare measures -- Morris

75. ÏªÂa bjhiyngÁ bjhê‰rhiy v§nf cŸsJ?
A) K«ig k‰W« bg§fq® B) bg§fq®
C) K«ig k‰W« òJ blšè D) K«ig k‰W« br‹id

Indian Telephone Industries Ltd. is located at 
A) Mumbai and Bangalore B) Bangalore
C) Mumbai and New Delhi D) Mumbai and Chennai

76. %®nfyh ÏU«ò v~F bjhê‰rhiy vªj eh£o‹ cjénahL ãWt¥g£lJ?
A) ô.v°.v°.M® B) ô.nf.
C) ô.v°.V. D) nk‰F b#®kå

Raurkela steel plant was set up with the assistance from 
A) USSR B) UK
C) USA D) West Germany

77. v©bzŒ k‰W« Ïa‰if thÍ fäbõ‹ cUth¡f¥g£lJ?
A) 1956 B) 1957
C) 1959 D) 1961

The Oil and Natural Gas Commission was set up in 
A) 1956 B) 1957
C) 1959 D) 1961

78. Â£l¡FGé‹ cgjiyt® vªj ãiyæš ÏU¥gh®?
A) Ãujk kªÂç B) Â£l kªÂç
C) fhÃbd£ kªÂç mªj°¤Âš
ÏU¥gh®

D) Áwªj bghUshjhu ãòz®

The Deputy Chairman of Planning Commission 
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A) is the Prime Minister B) is the Planning Minister
C) holds the rank of a cabinet
minister

D) is an economist or repute.

79. cyf t®¤jf r§f« v¥nghJ Mu«Ã¡f¥g£lJ?
A) 1984 B) 1994
C) 1995 D) 1996

World Trade Organisation was started in the year? 
A) 1984 B) 1994
C) 1995 D) 1996

80. jäœeh£oš vªj kht£l¤Âš M© bg© é»j« 2001-« M©L òŸë
étu¥go mÂfkhf cŸsJ?
A) ö¤J¡Fo B) ÂUbešntè
C) Ïuhkehjòu« D) cjfk©ly«

In Tamil Nadu, the district with the highest sex ratio as per 2001 census is 
A) Tuticorin B) Tirunelveli
C) Ramnad D) Nilgris

81 Ñœ¡f©l T‰Wfis MŒf: 
gRik¥òu£Áædhš F¿¥Ãl¤jFªj tifæš mÂfç¤jit. 

1. nfhJik c‰g¤Â
2. jhåa c‰g¤Â
3. k©ly ntWghL
4. kåj®fSŸshd ntWghL

Ït‰¿š 
A) 1 k‰W« 2 rç B) 3 k‰W« 4 rç
C) 1, 3 k‰W« 4 rç D) mid¤J« rç

The Green Revolution has led to marked increase in 
I. productivity of wheat
II. productivity of pulses
III. regional inequalities
IV. inter-personal inequalities

Of the statements: 
A) I and II are correct B) III and IV are correct
C) I, III and IV are correct D) all are correct

82 ÏªÂa k‰W« nuhk®fë‹ K¡»a tâf¤ jykhf és§»aJ 
A) mç¡fnkL B) mby¡rh©oçah
C) kJiu D) KÁ¿
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The chief center or meeting point of the Indo-Roman trade was 
A) Arikamedu B) Alexandria
C) Madurai D) Musiri

83. ÁªJ rkbtë ehfçf«
A) g¤jhæu« M©LfŸ 
gHikahdJ

B) VHhæu« M©LfŸ gHikahdJ

C) Iªjhæu« M©LfŸ 
gHikahdJ

D) _‹whæu« M©LfŸ gHikahdJ

The Indus Valley Civilisation is about 
A) ten thousand years old B) seven thousand years old
C) five thousand years old D) three thousand years old

84 cgãlj üšfŸ .......................... rh®ªjit 
A) rka« B) nahfh
C) j¤Jt« D) r£l«

Upanishads are books on 
A) religion B) yoga
C) philosophy

85 rçahd n#hoia nj®ªbjL¡fÎ«? 
A) všnyhuh Fif  --  rhf® B) kfhgèòu«  --  Ïuh£ouTl®fŸ
C) Ûdh£Á Mya« --  gšyt®fŸ D) f#]uhnAh  --  rªnjy®fŸ

Which one of the following is correctly matched? 
A) Ellora Caves  --  Saka B) Mahabalipuram  --  Rashtrakutas
C) Meenakshi temple  --  Pallavas D) Khajuraho  --  Chandelas

86 Ñœ¡f©l T‰Wfis MŒf. Ït‰¿š »ç¥° m¿¡ifæš ml§»ait: 
1. ÏªÂahé‰F blhäåa‹ mªj°J cWÂ¥gL¤ÂaJ
2. Ãç£oZ ÏªÂah k‰W« k‹d® khfhz§fëš ÃuÂãÂfis¡

bfh©L muÁaš rhrd mik¥ò cUth¡f¥gL«.
3. ÏªÂa®fis k£L« bfh©L ã®thf¡FG mik¡f¥gL«.
4. ÏªÂa¥Ãçéidia gçªJiu¤jJ.

A) 1, 2 k‰W« 3 rçahdit B) 1, 3 k‰W« 4 rçahdit
C) 2, 3 k‰W« 4 rçahdit D) 1, 2 k‰W« 4 rçahdit

Which of the following were included in the Cripps proposals? 
I. India was promised dominion status
II. Setting up of a constitution-making body consisting of the elected

representatives from British India and members from the princely
states.
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III. Setting up of an Executive Council composed of Indians alone.
IV. It suggested partition of India

Ofthe statements: 
A) I, II and III are correct B) II, III and IV are correct
C) I, III and IV are correct D) I, II and IV are correct

87 gë§»dhš brJ¡f¥g£l rkz nfhæš ÏªÂahéš v§F mikªJŸsJ? 
A) Ftyèa® B) b#Œ¥ó®
C) fhªjhuh D) Âšthuh

The Jain temples known for the finest marble carvings in India are situated at 
A) Gwalior B) Jaipur
C) Gandhara D) Dilwara

88 ‘btŸisand btënaW’ Ô®khd« ahuhš totik¤J jahç¡f¥g£lJ? 
A) M¢rh®a »Ughså B) #tA®yhš neU
C) r®jh® tšyghŒ g£nlš D) g£lhÃ Ó¤jhuhikah

Who prepared the draft of the ‘Quit India’ resolution? 
A) Acharya Kripalani B) Jawaharlal Nehru
C) Sardar Vallabhbhai Patel D) Pattabi Sitaramayya.

89 ÑnH bfhL¡f¥g£LŸss ãfœÎfis fhy tçir¥go rçahdij nj®ªbjL: 
1. ghyf§fhju Âyfç‹ Ïw¥ò
2. fh§»uì‹ eh¡ó® khehL
3. kh¥Ãsh òu£Á
4. rhªÂãnfjåš é°tghuÂæ‹ bjhl¡f«

A) 4, 3, 2 k‰W« 1 B) 3, 4, 2, k‰W« 1
C) 2, 1, 3 k‰W« 4 D) 3, 2, 4 k‰W« 1

Arrange the following events in chronological order and mark the correct choice 
from the options given below. 

I. Death of Bal Gangadhar Tilak
II. Nagpur session of the Congress
III. The Moplah uprising
IV. The inaguration of Vishwa Bharati at Shantiniketan

A) IV, III, II and I B) III, IV, II and I
C) II, I, III and IV D) III, II, IV and I.

90. jå¤ jäœ Ïa¡f¤Â‹ jªij v‹wiH¡f¥gLgt® ah®?
A) ghthz® B) ghuÂ
C) ÂU.é. fšahz Rªjudh® D) kiwkiyaofŸ

Who is called the father of pure Tamil movement? 
A) Bhavanar B) Bharathi
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C) Thiru.V.Kalyanasundaranar D) Maraimalaiadigal

91. xU fšÿçæš khzt®fS«, khzéfS« 3 : 2 v‹w é»j¤Âš cŸsd®.
mt®fSŸ 20% khzt®fS« 25% khzéfS« taJ tªnjh® våš taJ
tªnjh® mšyhj khzt®fë‹ rjÅj« ahJ?
A) 67.5% B) 82.5%

C) 78% D) 58%

The Boys and Girls in a college are in the ratio 3 : 2. If 20% of the boys and 25% 
of the girls are adults, the percentage of students who are not adults is 
A) 67.5% B) 82.5%
C) 78% D) 58%

92. A, B, C, D  M»nahç‹ ruhrç taJ IªJ tUl§fS¡F K‹ 45 M©LfŸ
MF«.  A, B, C, D, X M»nahç‹ j‰nghija ruhrç taJ 49 M©LfŸ
våš X‹ j‰nghija taJ v‹d?
A) 64 M©LfŸ B) 48M©LfŸ
C) 45 M©LfŸ D) 40 M©LfŸ

Five years ago the average age of A, B, C, D, was 45 years. By including X the 
present average of all the five is 49 years. Then the present age of X is 
A) 64 years B) 48 years
C) 45 years D) 40 years

93 %. 800/-¡F 5% t£o Åj¤Âš 1-M©L¡fhd T£Lt£o, jåt£o 
M»at‰¿‹ ntWghL ahJ? 
A) %. 81 B) %. 41
C) %. 56.50 D) Ït‰¿š VJäšiy

The difference between simple interest and the compound interest on Rs. 800 at 
5% per annum for 1 year is 
A) Rs. 81 B) Rs. 41
C) Rs. 56.50 D) None of these

94. Únuh£l Âiræš xU glF 6 ãäl§fS¡F 1 ».Û ntf¤ÂY«, mj‹
vÂ®¤Âiræš 10 ãäl§fS¡F 1 ».Û. ntf¤ÂY« br‹whš Únuh£l¤Â‹
ntf« ahJ?
A) kâ¡F 2 ».Û B) kâ¡F 1. ».Û
C) kâ¡F 1.5. ».Û D) kâ¡F 2.5 ».Û

A boat moves downstream at the rate of 1 km in 6 minutes and upstream at the rate 
of 1 km in 10 minutes. The speed of current is 
A) 2 km/hr B) 1 km/hr
C) 1.5 km/hr D) 2.5 km/hr
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95. 720 khzt®fSŸs gŸëæš iga‹fS« bg©fS« 7 : 5 v‹w é»j¤Âš
cŸsd®. nkY« v¤jid bg©fŸ nr®¡f¥g£lhš é»j« 1 : 1 vd khW«?
A) 90 B) 220
C) 120 D) 240

The ratio of number of boys and girls in a school of 720 students is 7 : 5. How 
many more girls should be admitted to make the ratio 1 : 1? 
A) 90 B) 220
C) 120 D) 240

96 xU gof¤Â‹ (Crystal) mik¥ig¥ g‰¿ bjçªJ bfhŸs cgnahf¥gL¤J« 
Kiw 
A) mf¢Át¥ò ãwkhiyæaš B) Ïuhk‹ ãwkhiyæaš
C) mQ btëpL (Atomic

emission) ãwkhiyæaš
D) X- fÂ® éë«ò éisÎ (Diffraction)

Which of the following is used for crystal structure studies? 
A) Infrared spectroscopy B) Raman spectroscopy
C) Atomic emission spectroscopy D) X-ray diffraction

97. Kj‹ Kjyhf ä‹fhªj miyfis mÂf öu« mD¥Ãa éŠPhå Ït®
A) n#«° »sh®¡ nk¡°btš B) bA‹¿¡ bA®£°
C) jhk° Mšth vor‹ D) nga®£

The scientist who first sent electromagnetic waves to distant places is 
A) James Clark Maxwell B) Heinrich Hertz
C) Thomas Alva Edison D) Baird

98. Å£oš ä‹ Ïiz¥òfëš ä‹fh¥ò cUF ÏiH (fuse) ÏJthf
ga‹gL¤j¥gL»wJ?
A) ä‹ X£l¤ij 
xG§FgL¤Jjš

B) gS (load)

C) ghJfh¥ò fUé D) ä‹dG¤j Fiw¥ò fUé

In the electrical circuit of a house the fuse is used 
A) to regulate the current B) to load
C) as safety device D) as step-down device

99. bA¡[h blÁkš v© bjhF¥Ãš (Number) mo¥gil v©
A) 10 B) 16
C) 8 D) 2

Hexadecimal is the number system with base 
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A) 10 B) 16
C) 8 D) 2

100 xU mQé‹ Mu« (radius) Ïªj mséš ÏU¡F« 
A) 10-12 Û B) 10-15 Û
C) 10-16 Û D) 10-10 Û

The radius of an atom is 
A) 10-12 m B) 10-15 m
C) 10-16 m D) 10-10 m

101. X- fÂ®fS¡F x¤j Mdhš miyÚs« Fiwªj k‰bwhU fÂ® vJ? ÏJ
fÂça¡f jåk§fshš btëæl¥gL»wJ. mJ ÑGŸst‰WŸ
A) α-fÂ®fŸ B) β-fÂ®fŸ
C) γ-fÂ®fŸ D) fh°ä¡ fÂ®fŸ

The rays similar to X-rays but of smaller wavelength that are given off by 
radioactive substances are 

A) α-rays B) β-rays

C) γ-rays D) cosmic rays

102 ÑnH bfhL¡f¥g£LŸs Ïl§fëš v§F ä‹rhu« Ú®Åœ¢Áahš 
jahç¡f¥gL»wJ? 
A) beŒntè B) v©û®
C) ö¤J¡Fo D) nk£^®

In which one of the following places is electricity generated from hydel power? 
A) Neyveli B) Ennore
C) Tuticorin D) Mettur

103 xU LCR R‰wil¥Ãš (Circuit), vJ ä‹rhu« ä‹dG¤j¤ij él f£l¤Âš 
(Phase) KªÂ¢ bršy¢ brŒ»wJ? 
A) L (ä‹ ãiyk«) B) C (ä‹ nj¡»)
C) R (ä‹ jil) D) _‹W« nr®ªjJ

In an LCR circuit which will give a phase lead to current than voltage 
A) L (inductance) B) C (capacitance)
C) R (resistance) D) all together

104 Ú® Âtiy (Drop of water) nfhs totkhf ÏU¡f¡ fhuz« 
A) gu¥ò ÏG éir B) Fiwªj mG¤j«
C) fh‰W¤ jil D) Úç‹ gh»aš j‹ik

A drop of water is spherical due to 
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A) surface tension B) low pressure
C) air resistance D) viscosity of water

105 Ûbahè miyfë‹ mÂ®Î v© 
A) 20 kHz-¡F mÂf« B) 20,000 kHz-¡F mÂf«
C) 20 kHz-¡F FiwÎ D) 2 kHz-¡F FiwÎ

The frequency of ultrasound wave is typically 
A) above 20 kHz B) above 20000 kHz
C) below above 20 kHz D) below above 2 kHz

106 nfhiy‹ ãiwªj Mjhu¤ jhtu« 
A) <°£ B) fhsh‹fŸ
C) g¢ir ÏiyfŸ D) jhåa§fŸ

Good pland sources of choline are 
A) yeast B) mushroom
C) green leaves D) cereal grains.

107 ‘M®å¤njhÃšè’ v‹gJ 
A) fh‰¿‹ cjéÍl‹ eilbgW«
kfuªj nr®¡if

B) gwitfŸ cjéÍl‹ eilbgW«
kfuªj nr®¡if

C) ó¢ÁfŸ tê eilbgW« kfuªj
nr®¡if

D) fh‰W tê éiu guÎjš

Ornithophily refers to 
A) pollination through wind B) pollination through birds
C) pollination by insects D) dispersal of seeds by wind

108 ÑnH bfhL¡f¥g£LŸsitæš ntÂa nr®k gh¡Oçahit f©l¿aÎ« 
A) iunrhÃa« B) »sh°Oça«
C) ie£nuhng¡l® D) bg»nahlh

Identify the chemosynthetic bacteria among the following 
A) Rhizobium B) Clostridium
C) Nitrobacter D) Beggiatoa

109 jhtu§fëèUªJ Âut Jëfshf Ú® btënaW« Kiw 
A) Ú®¡fÁÎ B) Úuhé¥nghjš
C) ouh‹°l¡õ‹ D) ouh‹°gh®nkõ‹

The removal of water from the plants in the form of liquid droplets is 
A) guttation B) transpiration
C) transduction D) transformation
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110 ‘iruå‹’ v‹w ghèaš Ah®nkh‹ c‰g¤Â brŒÍ« cæç 
A) Mšfh B) óŠir
C) iyf‹ D) gh¡Oçah

‘Sirenin’ is a sex harmone produced by 
A) alga B) fungus
C) lichen D) bacterium

111 ÑnH bfhL¡f¥g£LŸsitæš vJ xU KGikahd j©L x£L©â? 
A) f°T£lh B) ouhbruh
C) é°f« D) th©lh

Which one of the following is a total stem parasite? 
A) Cuscuta B) Drosera
C) Viscum D) Vanda

112. c©z¤jFªj jL¥ò kUªjhdJ bt‰¿fukhf vªj jhtu¤Âš
cUth¡f¥g£lJ?
A) g£lhâ B) kh«gH«
C) cUis D) K£ilnfh°

The plant which was successfully used in the production of edible vaccine is 
A) pea B) mango
C) potato D) cabbage

113. xU ònuhfhçnah£ tif bršè‹ g©ig f©l¿aÎ«
A) bršRt® fhz¥gLtJ B) 80s tif iunghnrh« fhz¥gLjš
C) kugQ bghUŸ fhz¥gL
tÂšiy

D) 70s tif iunghnrh« fhz¥gLjš

Identify the characteristic feature of a prokaryotic cell 
A) Presence of wall B) Presence of 80s ribosome
C) Absence of genetic material D) Presence of 70s ribosome

114 Rthr¤Â‹ nghJ M¡ìfuz gh°gçfuz« eilbgW« gFÂ 
A) gR§fåf¤Â‹ kh£ç¡° B) ik£nlhfh©oçahé‹ kh£ç¡°
C) ik£nlhfh©oçahé‹ cŸ
r›Î

D) gR§fâf¤Â‹ »çdhgFÂ

During respiration the oxidative phosphorylaton takes place in 
A) matrix of chloroplast B) matrix of mitochondrion
C) inner membrane of 
mitochondrion

D) grana of chloroplast
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115 x‹iw¤jéu k‰w mid¤J¢ bršfëY« ik£nlhfh©oçah 
fhz¥gL»wJ? 
A) <°£ B) gh¡Oçah
C) óŠir D) Mšfh

Mitochondria are present in all cells, except 
A) yeast B) bacteria
C) fungi D) algae.

116. Ñœf©l th¡»a§fis¡ ftå
cWÂ (A): é©btëæš brY¤j¥g£l uh¡bf£, óäæèUªJ xU F¿¥Ã£l
öu¤ij¡ fl¡f mÂf cªJéir junt©L«.
fhuz« (R): óäæèUªJ xU F¿¥Ã£l öu¤Âš, óäia¢ R‰¿ bt‰¿l
tisa« ÏU¡»‹wJ.
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL:
A) (A) k‰W« (R) Ïu©L« rç,
nkY« (R) v‹gJ (A) é‰F
rçahd és¡fkšy

B) (A) k‰W« (R) Ïu©L« rç, nkY« (R)

v‹gJ (A)é‰F rçahd és¡f«

C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): A rocket that is sent to space has to give an extra force at certain 
distance from earth. 
Reason (R): At a certain distance from earth, earth is encircled by a ring of 
vacuum 
Now select your answer according to the coding scheme given below: 
A) (A) and (R) are correct, but (R) is
not the correct explanation of (A)

B) (A) and (R) are correct, and (R) is the
correct explanation of (A)

C) (A) is true, but (R) is not correct D) (A) is not correct, but (R) is correct

117. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis
bfh©L rçahd éilia¤ bj®ªbjL.

 g£oaš I 
a) ä‹rhu¤Â‰F«, fhªj¤
Â‰F« cŸs bjhl®ò

b) xëæ‹ ntf«
c) nuonah miyfŸ
d) mQé‹ mik¥ò

F¿pLfŸ: 
 a  b  c  d 

A) 1  3  4  2 

 g£oaš II 
1) Úš° ngh®

2) M«Ãa®
3) nghfhš£
4) bA®£°
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B) 3  4  2  1 

C) 2  3  4  1 

D) 4  3  1  2 

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Relationship between 

electricity and magnetism 
b) Velocity of light

c) Radio waves
d) Structure of atom

Codes: 
a          b  c  d 

A) 1  3  4  2 

B) 3  4  2  1 

C) 2  3  4  1 

D) 4  3  1  2 

 List-II 
1. Neils Bohr

2. Ampere

3. Foucault
4. Hertz

118. vçbghUŸ fy‹fŸ vÂš ga‹gL»wJ?
A) Mfha ékhd« B) ä‹rhu uæš
C) é©btë Xl« D) Ú®_œ»¡ f¥gš

Fuel cells are used in 
A) aircrafts B) electric locomotives
C) space crafts D) submarines

119. gnahOrš vÂèUªJ bgw¥gL»wJ?
A) vÂš MšfAhš B) bršYnyh°
C) fU«ò r¡if D) #£nuh¥gh

From which of the following biodiesel is obtained? 
A) Ethyl alcohol B) Cellulose
C) Bagasse D) Jatropha
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120. ‘lh¡[hš’ v‹gJ vªj jhtu FGk¤ÂèUªJ bgw¥gL»wJ?
A) Ãiunahig£ B) í«ndh°bg®«
C) blçnlhig£ D) iyf‹

The plant group which yields ‘Taxol’ belongs to 
A) Bryophyte B) Gymnosperm
C) Pteridophyte D) Lichen

121. iA£nuh fh®g‹ c‰g¤Âæš ga‹gL¤j¥gL« Mšfh
A) »uhìšnyçah B) Fnshbušyh
C) ngh£çnahfh¡f° D) rh®fh[«

Alga used for hydrocarbon production is 
A) Gracilaria B) Chlorella
C) Botryococcus D) Sargassum

122. njÁa cæçd gšghF¢ r£l« (ignahilt®Áo) v¥nghJ eilKiw¡F
tªjJ?
A) 2002 B) 1992
C) 1997 D) 1967

When did National Biodiversity Act of India come into existence? 
A) 2002 B) 1992
C) 1997 D) 1967

123 vªj ehŸ vŒ£° ehshf filÃo¡f¥gL»‹wJ? 
A) #dtç, 1 B) V¥uš, 4
C) or«g®, 1 D) Mf°£, 20

World AIDS Day is observed on 
A) Ist January B) 4th April
C) Ist December D) 20th August

124 1056 cl‹ xU Fiwªj v© T£l¥gL« nghJ m¤bjhif 23-Mš ÛÂæ‹¿ 
tFgL« våš mj‹ kÂ¥ò ahJ? 
A) 21 B) 25
C) 3 D) 2

What least number must be added to 1056 to get a number exactly divisible by 23? 
A) 21 B) 25
C) 3 D) 2

125 ÏU v©fë‹ é»j§fŸ 13 : 15 k‰W« mt‰¿‹ Û¢ÁW bghJ kl§F 39780 
våš mªj v©fŸ ahit? 
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A) 2652 , 3060 B) 884, 1020
C) 884, 1040 D) 670, 1340

The ratio of two numbers is 13 : 15 and their LCM is 39780. The numbers are 
A) 2652 , 3060 B) 884, 1020
C) 884, 1040 D) 670, 1340

126 ÏJtiuæš v¤jid mbkç¡f #dhÂgÂfŸ ÏªÂahé‰F é#a« 
brŒJŸsh®fŸ? 
A) _‹W B) IªJ
C) MW D) VG

So far how many American Presidents visited India? 
A) Three B) Five
C) Six D) Seven

127 ÔéuthÂfŸ ÏªÂa ghuhSk‹w¤ij jh¡»a ehŸ 
A) et«g® 13, 2001 B) br¥l«g® 13, 2001
C) or«g® 13, 2001 D) or«g® 13, 2002

Terrorists attacked Indian Parliament on 
A) November 13, 2001 B) September 13, 2001
C) December 13, 2001 D) December 13, 2002

128 2000-« M©L nj®jš Miza« vªj njÁa f£Áæ‹ mªj°¤ij 
Ú¡»aJ? 
A) njÁathj fh§»u° B) #djh js«
C) ÁÃI (v«) D) ÁÃI

The Election Commission in 2000 derecognised which National party? 
A) Nationalist Congress B) Janata Dal
C) CPI (M) D) CPI

129 k©lš fäõ‹ gçªJiufŸ vªj M©L brašgL¤j¥g£lJ? 
A) 1989 B)1990
C) 1991 D) 1992.

In which year was Mandal Commission report implemented? 
A) 1989 B) 1990
C) 1991 D) 1992.

130 xUt® k¡fsitæ‹ rghehafuhf nj®ªbjL¡f¥g£l Ã‹ 
A) mtuJ f£Áæ‹ cW¥Ãduhf
bjhl®ªJ ÏU¥gh®

B) ghuhSk‹w¤Â‹ cW¥Ãd® Ïšiy
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C) f£Á¡F m¥gh‰g£ltuh»
M»éL»wh®.

D) mtuJ f£Áæ‹ cW¥Ãduhf
bjhl®ªJ ÏU¡fyh« mšyJ
ÏšyhkY« nghfyh«

After being elected as the Speaker of the Lok Sabha a person 
A) remains a member of his party B) is not a member of the Parliament
C) becomes a non-party man D) may or may not remain party man

131. g£L¡F bga® bg‰wJ?
A) nfha«ò¤ö® B) K«ig
C) fhŠÁòu« D) Nu¤

Place known for silk fabrics is 
A) Coimbatore B) Mumbai
C) Kancheepuram D) Surat

132 Á.vš.M®.I.‹ éçth¡f« v‹d? 
A) br‹£uš nyr® çr®¢ 
Ï‹°oô£ 

B) br‹£uš nyl¡° çr®¢ Ï‹°oô£

C) br‹£uš byj® çr®¢ 
Ï‹°oô£

D) fšRuš k‰W« yh§Fnt{ çr®¢
Ï‹°oô£

What is the expansion of CLRI? 
A) Central Laser Research Institute B) Central Latex Research Institute
C) Central Leather Research 
Institute

D) Culture and Language Research
Institute

133. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH bfhL¡f¥g£LŸs F¿pLfis
bfh©L rçahd éilia¤ bj®ªbjL.

 g£oaš I 
a) nt«ò Ïiy
b) muR Ïiy
c) JsÁ Ïiy
d) éšt« Ïiy

F¿pLfŸ: 
 a  b  c  d 

A) 2  1  4  3 

B) 1  2  3  4 

C) 3  1  4  2 

 g£oaš II 
1) éehaf® flÎŸ
2) Át‹
3) m«k‹
4) éZQ flÎŸ
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D) 4  3  2  1 

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Neem leaf
b) Arasu leaf
c) Tulasi leaf
d) Vilvam leaf

Codes: 
 a  b  c  d 

A) 2  1  4  3 

B) 1  2  3  4 

C) 3  1  4  2 

D) 4  3  2  1 

 List-II 
1. Lord Vinayaka
2. Lord Shiva
3. Amman
4. Lord Vishnu

134. K¡få g£oaèš Ïl«bgwhj få
A) gyh¥gH« B) kh«gH«
C) thiH¥gH« D) r¥ngh£lh

Which one of the following fruits is not included in the list of ‘Mukkani’? 
A) Jackfruit B) Mango
C) Banana D) Sapota

135. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH F¿¥Ã£LŸs F¿pLfë‹
mo¥gilæš rçahd éilia¤ bj®ªbjL.

 g£oaš I 
a) fhiskhL
b) vè
c) kæš
d) vUik

F¿pLfŸ: 
 a  b  c  d 

A) 3  2  1  4 

B) 2  3  4  1 

 g£oaš II 
1) vk‹
2) ÁtbgUkh‹
3) éehaf®
4) KUf‹
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C) 1  4  3  2 

D) 4  1  2  3 

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Bull
b) Rat
c) Peacock
d) Buffalo

Codes: 
 a  b  c  d 

A) 3  2  1  4 

B) 2  3  4  1 

C) 1  4  3  2 

D) 4  1  2  3 

 List-II 
1. Yama
2. Sivaperuman
3. Vinayaka
4. Muruga

136. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH F¿¥Ã£LŸs F¿pLfë‹
mo¥gilæš rçahd éilia¤ nj®Î brŒf.

 g£oaš I 
a) Úy»ç
b) th°f°
c) Mš¥°
d) óí kiy

F¿pLfŸ: 
 a  b  c  d 

A) 2  3  4  1 

B) 3  4  2  1 

C) 4  2  1  3 

D) 2  1  4  3 

 g£oaš II 
1) ko¥ò kiy
2) Ã©l kiy
3) vçkiy
4) vŠÁa kiy

Match List-I with List-II correctly and select your answer using the codes given 
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below: 
 List-I 

a) Nilgiris
b) Vosges
c) Alps
d) Mt. Fuji

Codes: 
 a  b  c  d 

A) 2  3  4  1 

B) 3  4  2  1 

C) 4  2  1  3 

D) 2  1  4  3 

 List-II 
1. Fold mountain
2. Block mountain
3. Volcanic mountain
4. Residual mountain

137 ÕfhÜ® efu¤ij R‰¿a gFÂfëš cŸs fhyãiy Ï›thW 
miH¡f¥gL»wJ? 
A) mad k©ly gUtfhy« B) bt¥g ghiytd«
C) k¤Âa jiu¡flš fhyãiy D) äj tw©l òšbtë

The climate around Bikaner can be described as 
A) Tropical monsoon B) Hot desert
C) Mediterranean type D) Semi-arid steppe

138 ÏªÂahéš cŸs khãy§fëš mÂf msÎ fçršk©iz bfh©LŸsJ 
vJ? 
A) F#uh¤ B) kfhuhZouh
C) f®ehlf« D) MªÂu Ãunjr«

In which state does the maximum area of blace soil occur? 
A) 2.4% B) 3.4%
C) 4.2% D) 4.3%

139 ÏªÂah cy»š 7-tJ bgça gu¥gsÎ bfh©l ehL. mJ ................. I 
bfh©LŸsJ 
A) 2.4% B) 3.4%

C) 4.2% D) 4.3%

India is the seventh largest country in the world. It occupies........of world area 
A) 2.4% B) 3.4%
C) 4.2% D) 4.3%

www.mntfreeias.com

www.mntfreeias.com



140 fhÁ, b#æªÂah kiyfŸ fhz¥gL« khãy« 
A) mUzhry Ãunjr« B) nkfhyah
C) kâ¥ó® D) ehfhyhªJ

The Khasi and Jaintia hills are located in 
A) Arunachal Pradesh B) Meghalaya
C) Manipur D) Nagaland

141. äsfhŒ c‰g¤Âæš cy»š bgça ehL
A) ÏªÂah B) g§fshnjr«
C) gh»°jh‹ D) $ y§fh

The largest producer of chillies in the world is 
A) India B) Bangladesh
C) Pakistan D) Sri Lanka

142 fU«ò éis¢rY¡F cfªj bt¥g« 
A) 200C Kjš 300C B) 150C Kjš 400C

C) 150C Kjš 200C D) 250C Kjš 400C

The ideal temperature for the growth of sugarcane is 
A) 200C to 300C B) 150C to 400C
C) 150C to 200C D) 250C to 400C

143. g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH F¿¥Ã£LŸs F¿pLfë‹
mo¥gilæš rçahd éilia¤ nj®Î brŒf.

 g£oaš I 
a) vtbu°£ kiy
b) »ëkŠrhnuh kiy
c) všguh° kiy
d) m¡nfh‹Fth kiy

F¿pLfŸ: 
 a  b  c  d 

A) 1  2  3  4 

B) 2  3  4  1 

C) 3  4  1  2 

D) 4  3  2  1 

 g£oaš II 
1) bj‹ M¥Ãç¡fh
2) Inuh¥gh
3) M¥Ãç¡fh
4) MÁah
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Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Mt. Everest
b) MT. Kilimanjaro
c) Mt. Elbrus
d) Mt Aconcagua

Codes: 
 a  b  c  d 

A) 1  2  3  4 

B) 2  3  4  1 

C) 3  4  1  2 

D) 4  3  2  1 

 List-II 
1. South America
2. Europe
3. Africa
4. Asia

144 Ã‹tUtdt‰¿š gu¥gséš vJ Á¿a ehL? 
A) thof‹ efu« B) nkhdh¡nfh
C) ehtnuh D) rh‹ kçndh

Which of the following is the smallest in terms of area? 
A) Vatican city B) Monaco
C) Nauru D) San Marino

145 Âdrç bt¥géah¥Â mÂfkhf fhz¥gL« efu« 
A) br‹id B) ÂUtdªjòu«
C) ošè D) K«ig

The maximum daily range of temperature can be observed at 
A) Chennai B) Thiruvananthapuram
C) Delhi D) Mumbai

146 g¤Âå têghL ahuhš V‰gL¤j¥g£lJ? 
A) beLŠnruyhj‹ B) fçfhy‹
C) Ïs§nfh mofŸ D) br§F£Lt‹

Who established the ‘Pathini cult’? 
A) Nedunjeraladan B) Karikalan
C) Elango Adigal D) Senguttuvan

147 f®ehlf¥ ngh®fŸ Ït®fS¡»ilna elªjJ 
A) f®ehlf ethò k‰W« B) f®ehlf ethò k‰W« 
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M§»nya® ÃbuŠR¡fhu®fŸ 
C) M§»nya® k‰W« 
ÃbuŠRfhu®fŸ

D) Ït‰WŸ VJäšiy

The Carnatic wars were fought between 
A) the Nawab of Carnatic and the
British

B) the Nawab of Carnatic and the French

C) the British and the French D) none of them

148 Ñœf©l th¡»a§fis¡ ftå 
cWÂ (A): Fõhz®fŸ k¤Âa MÁahit ó®Åfkhf¡ bfh©lt®fŸ 
fhuz« (R): Ït®fŸ ô¢Á Ïd¤Âš njh‹¿at®fŸ  
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) k‰W« (R) Ïu©L« rç,
nkY« (R) v‹gJ (A) é‰F
rçahd és¡f«

B) (A) k‰W« (R) Ïu©L« rç, nkY« (R)

v‹gJ (A)é‰F rçahd és¡fkšy

C) (A) rç Mdhš (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): The Kushanas were of Central Asian origin 
Reason (R): They were a derivative of teh Yue-chi tribe 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not
the correct explanation of (A)

C) (A) is true, but (R) is false D) (A) is false, but (R) is true

149 Ñœf©l th¡»a§fis¡ ftå 
cWÂ (A): lh¡l® m‹åbgr‹£ j‹dh£Á Ïa¡f¤ij M§»nya M£Á¡F 
vÂuhf V‰gL¤Âdh®. 
fhuz« (R): mt®, mid¤J ju¥ò ÏªÂa k¡fisÍ« kj¤Â‰F m¥gh‰g£L 
xnu muÁaš KH¡f¤Â‹ Ñœ x‹W Âu£l éU«Ãdh®.  
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) rç Mdhš (R) jtW B) (A) jtW Mdhš (R) rç
C) (A) k‰W« (R) Ïu©L« jtW D) (A) rç k‰W« (R) v‹gJ (A) é‰F

rçahd és¡f«.

Consider the following statements: 
Assertion (A): Dr. Annie Besant organised the Home Rule movement against the 
British rule 
Reason (R): She wanted to organise all sections of Indian people on the basis of a 
single political slogan above religious considerations. 
Now select your answer according to the coding scheme given below: 
A) (A) is correct, but (R) is not
correct

B) (A) is not correct, but (R) is correct
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C) Both (A) and (R) are not correct D) (A) is correct and (R) is correct
explanation of (A)

150 Mça®fë‹ fU¤J¥go Ã‹tUtdt‰WŸ ÁW bjŒt« mšyhj x‹W vJ? 
A) ä¤uh B) mÂ¤ah°
C) m°é‹° D) thR°

Which one of the following is not the minor deity according to Aryans? 
A) Mitra B) Adityas
C) Asvins D) Vasus

151 kAhahår¤Â‹ äf¥bgça és¡fÎiuahs® 
A) Â§ehfh B) j®kÑ®¤Â
C) ehfh®#&dh D) thRgªJ m[h§fh

A great exponent of Mahayanism was 
A) Dingnaga B) Dharmakirti
C) Nagarjuna D) Vasubandhu Asanga

152 Ã‹tUtdt‰WŸ, Kjš cyf¥nghçš Ïwªj Åu®fS¡fhf f£l¥g£l 
ãidÎ¢ Á‹d« vJ? 
A) ÏªÂahé‹ EiHÎ thæš B) ÏªÂah nf£
C) é#Œ gh¤ D) é¡nlhçah ãidÎ¡ Tl«

Which of the following monuments was built in memory of the soldiers who lost 
their lives in World War I? 
A) Gateway of India B) India Gate
C) Vijay Path D) Victoria Memorial Hall

153 Na° fhšthŒ Kj‹ Kjyhf ÂwªJ él¥g£l M©L 
A) 1839 B) 1849
C) 1859 D) 1869

Suez Canal was first opened in the year 
A) 1839 B) 1849
C) 1859 D) 1869

154 m#ªjh Xéa§fŸ vij¥ g‰¿ F¿¥Ãl¥gL»wJ? 
A) i#d kj« B) ò¤j kj«
C) irt« D) itzt«

Which is described in Ajanta Paintings? 
A) Jainism B) Buddhism
C) Saivism D) Vaishnavism
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155. gŠrÓy bfhŸif v§F Kiw¥gL¤j¥g£lJ?
A) ghß° B) òJblšè
C) gh©L§ D) bfŒnuh

Where were the principles of Panchsheel regulated? 
A) Paris B) New Delhi
C) Pandong D) Cairo

156 “njr¥g‰nw rka«, rka« v‹gJ ÏªÂahit neÁ¥gJ” brh‹dt® ah®? 
A) Rthä éntfhdªj® B) uh{ ehuhaz‹ ngh°
C) g¡»« rªÂu r£l®í D) ghy f§fhju Âyf®

Who said “Patriotism is religion and religion is love for India”? 
A) Swami Vivekananda B) Raj Narain Bose
C) Bankim Chandra Chatterji D) Bal Gangadhar Tilak

157 ò¤jf¡ fiyæš ÃuÂfè¡fhj x‹W 
A) °öÃ B) éfhu«
C) ir¤ah D) buè¡ lt®

Which of the following is not a representative of Buddhist art? 
A) Stup B) Vihara
C) Chaitya D) Relic towers

158 bksça fiy¡F Áwªj rh‹whf és§FtJ 
A) °öÃ B) Á‰g§fŸ
C) mnrhfuJ ö©fŸ D) (B) k‰W« (C) Ïu©L«

The masterpieces of Mauryan art were the 
A) Stupas B) Sculptures
C) Ashoka Pillars D) both (B) and (C)

159 ÁªJ rkbtë k¡fŸ tz§»a bjŒt« 
A) gRgÂ B) ÏªÂu‹ k‰W« tUz‹
C) Ãu«k‹ D) éZQ

The people of Indus Valley civilization worshipped? 
A) Pashupati B) Indra and Varuna
C) Brahma D) Vishnu

160 mo¥gil¡ fšéæ‹ “th®jh Â£l«” ahuhš K‹bkhêa¥g£lJ? 
A) #tA®yhš neU B) èahf¤ mè fh‹
C) kfh¤kh fhªÂ D) v«.V. í‹dh
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Wardha Scheme of Basic Education is proposed by 
A) Jawaharlal Nehru B) Liaquat Ali Khan
C) Mahatma Gandhi D) M.A. Jinnah

161 F¥j®fŸ M£Á¡ fhy¤ij¡ fh£oY« rhÂ mik¥ò fodkhf ÏUªj fhy« 
A) bksça fhy« B) A®õ t®¤jd® fhy«
C) rhfh° D) nrhH®fŸ

Compared to Gupta age the caste system was more rigid during 
A) the Mauryan age B) the time of Harshavardhana
C) the Sakas D) the Cholas

162 Ït‰WŸ vt® nrhH k‹d®? 
A) beLŠbrêa‹ B) fçfhy‹
C) beLŠnruyhj‹ D) Mça¥gil flªj beLŠbrêa‹

Which of the following was a Chola King? 
A) Nedunjheliyan B) Karikalan
C) Nedunjeraladan D) Aryappadai Kadanda Nedunjhelian

163 jŠir Át‹ nfhæiy¡ f£oa Ïuhruhr® xU 
A) nrhH k‹d® B) gšyt k‹d®
C) gh©oa k‹d® D) Ït‰WŸ VJäšiy

The Shiva temple at Thanjavur was built by Rajaraja the Great who was 
A) a Chola ruler B) a Pallava ruler
C) a Pandya ruler D) none of them

164 ÁªJ rkbtë ehfßf« f©LÃo¡f¥g£l M©L 
A) 1922 B) 1910
C) 1822 D) 1824

The Indus Valley civilization was discovered in the year 
A) 1922 B) 1910
C) 1822 D) 1824

165 f§if bfh©l nrhHòu« nfhæiy f£oat® 
A) Kjyh« uh#uh#‹ B) é¡»uk nrhH‹
C) uh#hÂ uh#h D) Kjyh« uhn#ªÂu‹

Gangaikonda Cholapuram temple was built by 
A) Rajaraja I B) Vikrama Chola
C) Rajadhiraja D) Rajendran I
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166 Ñœ¡f©l T‰Wfis MŒf 
kht£l ã®thf« v‹gJ: 

1. kht£l¤Â‰FŸ r£l« xG§F ã®thf¤ij nk‰bfhŸSjš
2. kht£l¤Â‰FŸ tUthŒ ã®thf«
3. kht£l¤Â‰FŸ nk«gh£L ã®thf«
4. kht£l¤Â‰FŸ bghJ ã®thf«

Ït‰¿š 
A) 1 k£Lnk B) 2 k£Lnk
C) 1, 2, k‰W« 3 D) 4 k£Lnk

Consider the following statements 
District administration stands for 

I. Law and order administration within a district
II. Revenue administration within a district
III. Developmental administration within a district
IV. Public administration within a district

Of the Statements 
A) I alone is correct B) II alone is correct
C) I, II and III are correct D) IV alone is correct

167 ÏªÂa muÁayik¥ò r£l¤Â‹ v£lhtJ m£ltizæš v¤jid bkhêfŸ 
cŸsd? 
A) gÂbd£L bkhêfŸ B) g¤bjh‹gJ bkhêfŸ
C) gÂdhW bkhêfŸ D) ÏUg¤bjh‹W bkhêfŸ

How many languages are there in the Eighth Schedule of the Constitution of India? 
A) Eighteen languages B) Nineteen languages
C) Sixteen languages D) Twenty-one languages

168 k¤Âa murh§f« vªj g£oaèš jå¥g£l mÂfhu¤ij brY¤J»wJ? 
A) k¤Âa g£oaš B) khãy¥ g£oaš
C) bghJ¥ g£oaš D) (A) k‰W« (B)

In which list does the Union Government enjoy exclusive powers? 
A) Union List B) State List
C) Concurrent List D) both (A) and (B)

169 Ñœ¡f©l T‰Wfis MŒf: 
ÏªÂahéš jftš bgW« cçik mtÁa«, Vbdåš 

1. ã®thf¤Âš k¡fŸ g§nf‰ig mÂf¥gL¤Jjš
2. k¡fë‹ e«Ã¡if¡F gh¤Âukhf ã®thf¤ij cUth¡Fjš
3. üjd Kiwæš ã®thf¤ij cUth¡Fjš
4. ã®thf KobtL¤jš k¡fël« éê¥òz®Î V‰gL¤Jjš
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Ït‰¿š 
A) 1, 2 k‰W« 3 rçahdit B) 2, 3 k‰W« 4 rçahdit
C) 1, 2 k‰W« 4 rçahdit D) 1, 3 k‰S« 4 rçahdit

Consider the following statemetns: 
Right to information is necessary in India because it 

I. increases people’s participation in administration
II. makes administration more accountable to people
III. makes administration more innovative.
IV. makes people aware of administration decision making

A) I, II and III are correct B) II, III and IV are correct
C) I, II and IV are correct D) I, III and IV are correct

170 vªj M©L ca®ÚÂk‹w« br‹idæš V‰gL¤j¥g£lJ? 
A) 1862 B) 1871
C) 1881 D) 1891

In which year was High Court in Madras established? 
A) 1862 B) 1871
C) 1881 D) 1891

171 m.Â.K.f vªj ghuhSk‹w Ïil¤nj®jèš Kj‹ Kjyhf bt‰¿ bg‰wJ? 
A) f%® B) M©o¥g£o
C) Â©L¡fš D) kJiu

In which by-election to the Parliament did the ADMK win for the first time 
A) Karur B) Andipatti
C) Dindigul D) Madurai

172 g£oaš I I g£oaš II cl‹ rçahf¥ bghU¤Â, ÑnH F¿¥Ã£LŸs 
F¿pLfë‹ mo¥gilæš rçahd éilia¤ nj®Î brŒf. 

 g£oaš I   
a) Â.K.f
b) m.Ï.m.Â.K.f
c) k.Â.K.f
d) gh.k.f.

F¿pLfŸ: 
 a  b  c  d 

A) 1  2  3  4 

B) 2  3  4  1 

       g£oaš II 
1) kh«gH«
2) cja Nça‹
3) Ïu£il Ïiy
4) g«gu«
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C) 3  4  1  2 

D) 4  3  2  1 

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) DMK
b) AIADMK
c) MDMK
d) PMK

Codes: 
 a  b  c  d 

A) 1  2  3  4 

B) 2  3  4  1 

C) 3  4  1  2 

D) 4  3  2  1 

 List-II 
1. Mango
2. Rising Sun
3. Two leaves
4. Top

173 ÏªÂah RjªÂu« milªj fhy¤Âš jäHf Kjš mik¢ruhf ÏUªjt® 
ah®? 
A) x.Ã. uhkrhä br£oah® B) fhkuh{
C) uh#hí D) g¡jt¢ry«

Who was the Chief Minsiter of Tamil Nadu during the time of Independence of 
India? 
A) O.P. Ramasamy Reddiar B) Kamaraj
C) Rajaji D) Bakthavatchalam

174 jäHf r£lk‹w cW¥Ãd®fë‹ bkh¤j v©â¡if 
A) 231 B) 232
C) 233 D) 234

The total number of members of Tamil Nadu Legislative Assembly is 
A) 231 B) 232
C) 233 D) 234

175 jäœeh£oš cHt® rªijia m¿Kf¥gL¤Âat®? 
A) v«.í. uhk¢rªÂu‹ B) #hd» uhk¢rªÂu‹
C) fUzhãÂ D) b#ayèjh
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In Tamil Nadu farmer market is introduced by 
A) M.G. Ramachandran B) Janaki Ramachandran
C) Karunanidhi D) Jayalalithaa

176 jäœeh£oš vªj kht£l¤Âš k¡fŸ bjhif 2001-« M©L òŸë étu¥go 
mÂfkhf cŸsJ? 
A) kJiu B) br‹id
C) nfha«ò¤ö® D) ÂU¢Á

The district with highest population in Tamil Nadu as per 2001 census is 
A) Madurai B) Chennai
C) Coimbatore D) Trichi

177 jäœeh£oš vªj kht£l« mÂf fšéa¿Î bg‰WŸsJ? 
A) f‹åahFkç B) ÂUbešntè
C) flÿ® D) jŠrhñ®

The district with highest literacy rate in Tamil Nadu is 
A) Kanniyakumari B) Tirunelveli
C) Cuddalore D) Thanjavur

178 jäœeh£o‹ k¡fŸ bjhif ml®¤Â, 2001-« k¡fŸ bjhif fz¡bfL¥Ã‹ 
go vªãiyæš cŸsJ? 
A) 478 B) 456
C) 411 D) 626

The density of population in Tamil Nadu is (as per 2001 census) 
A) 478 B) 456
C) 411 D) 626

179 Ñœ¡f©l vªj Kiwia brÃ (SEBI) nj®ªbjL¡f¥g£l g§Ffis 
RHšKiw Ô®é‰fhf m¿Kf¥gL¤ÂaJ, Ï«Kiwæš 
A) mid¤J g§FfS¡F« 
bfhŸKjš brŒj m‹nw 
brY¤jjš 

B) th§Fgt®, g§FfS¡fhd 
bjhifia K‹T£ona brY¤Jjš 

C) bfhŸKjš bjhifia 
é‰gid bjhifÍl‹ 
rç¡f£Ljš

D) bfhŸKjš brŒj Iªjh« ehŸ
g§FfS¡fhd bjhifia brY¤Jjš

SEBI has introduced rolling settlement for selected shares under the method 
A) all shares have to be paid for on
the day of purchase

B) purchaser has to make advance payment
for the share

C) purchase can be set off against D) payment has to be settled at the end of
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sales 5th day 

180 Ñœf©lt‰WŸ vªj T‰W ÏªÂuh Mth° Â£l¤Â‰F bjhl®òilaJ? 
A) k© k‰W« Ú® ghJfh¥ò
bjhl®òila ntiy

B) »uhk rhiyfŸ mik¤jš

C) jhœ¤j¥g£l, kiythœ k‰W«
éLé¡f¥g£l
bfh¤joikfS¡F Ïytr ÅL
tH§Fjš

D) éisÍ« k‰W« éisah ãy ts
nk«ghL

Which of the following statements is correct regarding Indira Awas Yojana? 
A) Soil and water conservation
works

B) Construction of rural roads

C) Providing houses at free of cost
to the members of SC / ST and free
bonded labourers

D) Land development and waste land
development

181 g£oaš I I g£oaš II cl‹ rçahf¥ bghU¤Â, ÑnH F¿¥Ã£LŸs 
F¿pLfë‹ mo¥gilæš rçahd éilia¤ nj®Î brŒf. 

 g£oaš I   
a) I.v¥.Á.I
b) I.Á.I.Á.I
c) I.o.Ã.I
d) V‰WkÂ Ïw¡FkÂ t§»

F¿pLfŸ: 
 a  b  c  d 

A) 4  3  2  1 

B) 3  2  4  1 

C) 3  1  2  4 

D) 2  3  4  1 

       g£oaš II 
1) 1955
2) 1964
3) 1948
4) 1971

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) IFCI
b) ICICI
c) IDBI
d) EXIM Bank

Codes: 

 List-II 
1. 1955
2. 1964
3. 1948
4. 1971
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 a  b  c  d 

A) 4  3  2  1 

B) 3  2  4  1 

C) 3  1  2  4 

D) 2  3  4  1 

182 Ñœ¡f©l T‰Wfis MŒf: 
1. bghJ¤Jiw ãWtd éçth¡f«, bjhê‰Jiw bfhŸif Ô®khd«,

1956-I mo¥gilahf¡ bfh©lJ
2. #]iy 1991š muR òÂa bjhê‰bfhŸif m¿é¤jJ
3. muR vªj xU bjhê‰Â£l¤ijÍ« m¿é¡féšiy

A) 1 k£L« rç B) 2 k£L« rç
C) 1 k‰W« 2 rç D) mid¤J« rç

Consider the following statements: 
I. The expansion of the public sector was based on Industrial Policy

Resolution, 1956
II. Govt. has announced New Industrial Policy in July, 1991
III. Govt. has not announced any industrial policy at all

Of the statements: 
A) I alone is correct B) II alone is correct
C) I and II are correct D) all are correct

183 ahUila fU¤Â‹go ‘#deha rk¤Jt rKjha«’ v‹w brhš 
étç¡f¥gL»wJ? 
A) kfh¤kh fhªÂ B) ÂUkÂ. ÏªÂuh fhªÂ
C) #tA®yhš neU D) r®jh® tšyghŒ g£nlš

On whose vision was the term ‘democratic socialism’ described? 
A) Mahatma Gandhi B) Smt. Indira Gandhi
C) Jawaharlal Nehru D) Sardar Vallabhbhai Patel

184 ÑœtUtdt‰WŸ vJ rçahf bghUªÂÍŸsJ? 
A) bjhê‰ bfhŸif m¿¡if  --
2002

B) g§F _yjd fiy¥Ã‰fhd FG
m¿¡if (bu§fuh#‹ fä£o)  --  1987

C) I¡»a K‹zâ muÁ‹
Fiwªj g£r bghJ braš Â£l« 

D) g¤jhtJ Iªjh©L Â£l« 
bjhl§f¥g£lJ  --  2005 

Which one of the following is correctly matched? 
A) Industrial policy statement  -- B) Report on the committee on
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2002 disinvestment of shares (Rangarajan 
Committee) -- 1987 

C) Common Minimum Programme
of United Front Govt. --  1996

D) Start of tenth Five-Year Plan -- 2005

185 vªj neh¡f¤Â‰fhf ãÂ¡ FG ãaä¡f¥g£lJ? 
A) Â£l« rhuhj tUthŒ 
Mjhu§fis g»®ªjë¥gj‰fhd 
gçªJiw brŒa 

B) mªãa bryhtåia <£l

C) bghJ¤Jiw ãWtd§fŸ
yhgfukhf brašgl gçªJiu
brŒa

D) tç éÂ¡f

For which purpose is the finance commission appointed? 
A) To make recommendation for
devolution of non-plan revenue
resources

B) To earn foreign exchange

C) to recommend measures for
profit making public sector
enterprises

D) to impose taxes

186 Ñœf©l th¡»a§fis¡ ftå 
cWÂ (A): {7, 2, 12, 5, 9} òŸë étu¤Â‹ eLbt© 7 MF« 
fhuz« (R): xU òŸë étu¤Â‹ ika kÂ¥ng eLbt© 
v‹wiH¡f¥gL»wJ.  
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) rç Mdhš (R) jtW B) (A) k£L« rçahdJ
C) (R) k£L« rçahdJ D) (A) rç k‰W« (R) Ïu©L« rçahdJ,

nkY« (R) v‹gJ  (A) é‰F rçahd
és¡fkhF«

Consider the following statements: 
Assertion (A): Median of {7, 2, 12, 5, 9} is 7 
Reason (R): The middle most value of a data is called median. 
Now select your answer according to the coding scheme given below: 
A) (A) is true, but (R) is false B) (A) alone is true
C) (R) alone is true D) Both (A) and (R) true and (R) is the

correct explanation of (A)

187 g£oaš I I g£oaš II cl‹ bghU¤Â, ÑnH F¿¥Ã£LŸs F¿pLfë‹ 
mo¥gilæš rçahd éilia¤ nj®Î brŒf. 

 g£oaš I   
a) x£LwÎ bfG
b) khWjš Fzf«

       g£oaš II 
1) T£L ruhrç = eLbt© = KfL
2) FiwthdJ
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c) xU rk¢Ó® gutèš
d) eLbt©âèUªJ ruhrç
éy¡f«

F¿pLfŸ: 
 a  b  c  d 

A) 4  3  2  1 

B) 4  2  3  1 

C) 4  3  1  2 

D) 3  4  2  1 

3) éG¡fh£L khWghL
4) x‹W kÂ¥ig fl¡f KoahJ

Match List-I with List-II correctly and select your answer using the codes given 
below: 

 List-I 
a) Correlation coefficient
b) Coefficient of variation
c) For a symmetrical 

distribution 
d) Mean deviation from Median

Codes: 
 a  b  c  d 

A) 4  3  2  1 

B) 4  2  3  1 

C) 4  3  1  2 

D) 3  4  2  1 

 List-II 
1. Mean = Median = Mode
2. Least
3. Percentage variation

4. Cannot exceed unity

188 Ã‹tUtdt‰¿š vªjbth‹W rçahf bghUªJ»wJ? 
A) Ïir ruhrç  --  xU nfh£l
msit

B) ruhrç éy¡f« -- xU ruhrç

C) gF¥ghŒÎ  --  òŸë étu¤ij
xG§FgL¤Jjš

D) é‰gid k‰W« Ïyhg« -- äif
x£LwÎ

Which one of the following is correctly matched? 
A) Harmonic mean  --  A measure of
skewness

B) Mean deviation  --  An average
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C) Analysis --  An arrangement of
data

D) Sales and profit  --  Positive correlation

189 Ã‹tUtdt‰WŸ vªjbth‹W rçahg bghUªJ»wJ? 
A) òŸë étu«  -- bghUŸfë‹ 
bjhF¥ò 

B) KfL  -- xU Áwªj 
tiuaW¡f¥g£l msit 

C) Å¢R  --  xU òŸëétu¤Â‹,
Á¿a k‰W« bgça kÂ¥òfS¡
»il¥g£l é¤Âahr«

D) Q.D.   --  xU Áwªj gutš msit.

Which one of the following is correctly matched? 
A) Data  --  A collection of objects B) Mode  --  A well defined measure
C) Range  --  Difference between the
largest and the smallest items of a
data

D) Q.D. --  A best measure of dispersion

190 _‹W v©fë‹ T£L ruhrç 135. bgça v©â‹ kÂ¥ò 180. k‰w ÏU 
v©fS¡F Ïil¥g£l é¤Âahr« 25. Á¿a v©â‹ kÂ¥ghdJ 
A) 130 B) 125
C) 120 D) 100

The average of three numbers is 135. The largest number is 180 and the difference 
of the other two is 25. The smallest number is. 
A) 130 B) 125
C) 120 D) 100

191 ãfœbt© gutš _y« eh« bghUŸ bfhŸtJ òŸëétu tF¥Õlš 
mik¥ig Ïj‹ _y« bjçé¥gjhF« 
A) x›thj cUtik¥ò B) x¤j cUtik¥ò
C) tF¥ò Ïilbtë D) gUk‹

By frequency distribution we mean the classification of data according to 
A) dissimilarities B) similarities
C) class intervals D) magnitude.

192 { 5, 5, 5, 5, 5 }òŸëétu¤Â‰F eLbt©âèUªJ bgw¥gL« M.D. 

kÂ¥ghdJ 
A) 0 B) 2
C) 4 D) 5
Valu e of M.D. of { 5, 5, 5, 5, 5 }from Median is 
A) 0 B) 2
C) 4 D) 5

193 y = 3 + 2x v‹whš x k‰W« y kh¿fë‹ x£LwÎ¡ bfGé‹ kÂ¥ghdJ 
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A) -1 B) 0
C) 0.5 D) 1

y = 3 + 2x, then the coefficient of correlation between x and y is 
A) -1 B) 0
C) 0.5 D) 1

194 {2, 7, 5, 10, 4} òŸëétu¤Â‰F Ã‹tUtdt‰¿š vªj msitia 
fz¡»l KoahJ? 
A) T£L ruhrç B) eLbt©
C) KfL D) Ïir ruhrç

Which one of the following measures cannot be computed for {2, 7, 5, 10, 4}? 
A) Mean B) Median
C) Mode D) Harmonic Mean

195 Ñœf©l th¡»a§fis¡ ftå 
cWÂ (A): ãfœbt© br›tf« òŸëétu¤ij btë¥gL¤J« X® tiugl« 
fhuz« (R): òŸë égu§fis tiugl¤Â‹ _y« btë¥gL¤jyh« 
ÑnH F¿¥Ã£LŸs F¿p£oš rçahd éilia¤ nj®ªbjL: 
A) (A) k‰W« (R) Ïu©L« rç B) (A) k‰W« (R) Ïu©L« jtW
C) (A) rç k‰W« (R) jtW D) (A) jtW Mdhš (R) rç

Consider the following statements: 
Assertion (A): Histogram is a graphical presentation of data 
Reason (R): Statistical data can be represented in the form of graphs. 
Now select your answer according to the coding scheme given below: 
A) Both (A) and (R) are true B) Both (A) and (R) are false
C) (A) is true, but (R) is false D) (A) is false, but (R) is true.
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